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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272005
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592733735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing term in the following letter series:

, VI, YW, BZ

Options:

1. = ST
2. PR
3. v SQ
4. % PQ

Question Number : 1 Question Id : 54592733735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa e g@er A oIt g AT L

, VI, YW, BZ

Options:

1. = ST
2. = PR
3. v 8Q
4. » PQ

Question Number : 2 Question Id : 54592733736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the missing term in the following series:

T4V, , N12P, K16M

Options:

1. = QoM
2. = R8P
3. * R10OM
4. v Q8S

Question Number : 2 Question Id : 54592733736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa e g@er A oIt g AT L

T4V, , N12P, K16M

Options:

1. = Q6M
2. = R8P
3. = R10M
4. v Q8S

Question Number : 3 Question Id : 54592733737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the following series:

TWZ, QTW, NRT, KNQ, HKN

Options:

1. * HKN
2. » KNQ
3. v NRT



4, % QTW

Question Number : 3 Question Id : 54592733737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e TaEd SEer # Teld T AT

TWZ, QTW, NRT, KNQ, HKN

Options:

1. » HKN
2. = KNQ
3. v NRT
4. = QTW

Question Number : 4 Question Id : 54592733738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = Strawberry
2. v Litchi

3. = Kiwl

4. = Apple

Question Number : 4 Question Id : 54592733738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow a7 [Oefedl A 4, did U ead dileh 8 AT &

&Tollloh, Ueh Tdhed e dlel T dig olel &l 3T Aeq &

el L ST AT T 37T &1

Options:




B W=
®

Question Number : 5 Question Id : 54592733739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. v KNS
2. = GJM
3. = ORU
4. = VYB

Question Number : 5 Question Id : 54592733739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feU a0 geredl & &, dieT U Afead aies & @A &

&TeliTeh, Ueh Taeheq 3ed died T ol el &1 39 [reT &
T Y ST ATRT T 37el4T ¢

Options:

1. v KNS
2. = GJM
3. = ORU
4. = VYB

Question Number : 6 Question Id : 54592733740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which is
differently related.

Options:

1. v Microscope : Bacteria
2. = Needle : Sew

3. » Axe : Chop

4. = Spade : Dig

Question Number : 6 Question Id : 54592733740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few 17 [Ghreul A 3 ersal & ST ThaAT Joiad & T Th
SIBT 37619 g & TaTSd &1 39 SHal &l ATd Y oI 37erdT
g & garadT gl

Options:

1.¢q\&mﬁ:sﬁaq
2.« g3 : Qe

3. = ghw5|sf‘| . ShIcH]

4. = eI : SIr ]

Question Number : 7 Question Id : 54592733741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

Poet : Poem :;: Author : ?

Options:

1. = Pen
2. v Book
3.« Writer



4. = Pages

Question Number : 7 Question Id : 54592733741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [dhed &7 I« Y S dIaX U8 8 38T TR & T@aidd &
o 7hT & Ugell U g 9% & Faiad gl

FTa : FiadT :: olEh : ?

Options:

1. = SholH
2. v ToraE
3. « ol
4. = O

Question Number : 8 Question Id : 54592733742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

HPT : EMQ - RUD : ?
Options:

1. » NSB
2.« PNB
3.v ORA
4. » NQB

Question Number : 8 Question Id : 54592733742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



39 fdheT T T e S AR 9 F 38T ThR & Hadd §
o 9} & Ygel U5 g U% H FEAd g

HPT : EMQ = RUD : 7

Options:

1. = NSB
2. = PNB
3. v ORA
4. = NQB

Question Number : 9 Question Id : 54592733743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the pair that is related on the same basis to the pair
given in the question.

HOW  JTA 1 ?
Options:

1. v LTC : NWG
2. » MPD : OXH
3. = DOQW : HUA
4. » MHZ : KMA

Question Number : 9 Question Id : 54592733743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 SNST &l Tdd R S 38T 3R 9T arad &, o9 R
gy TaTeT H ar 915 SNer §afdd &

HQW : JTA @ ?

Options:



1. v LTC : NWG
2. = MPD : OXH
3. = DQW : HUA
4. = MHZ : KMA

Question Number : 10 Question Id : 54592733744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If in a certain code language DUCK = 20, SCHOOL = 42,
BACHELOR = 72, then what is the code for COLLEGE?

Options:

1. » 60
2. v 506
3. % 48
4. % 352

Question Number : 10 Question Id : 54592733744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk ToTead &g 91 &, DUCK = 20, SCHOOL = 42,
BACHELOR = 72 &, a COLLEGE T I3 T &7

Options:

1. = 60
2. v 56
3. = 48
4. = 52

Question Number : 11 Question Id : 54592733745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If earth is called moon, moon is called land, land is called
water, water 1s called air, air is called grass, grass is called
garden, then what do we drink when we are thirsty?



Options:

1. v air

2. » water
3. % grass
4. = garden

Question Number : 11 Question Id : 54592733745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Afe aTdT SRl TEHAT FaT AT, AGHT bl STHIT HaET AT, TH
I GTal hal ST, TTaT hl §4AT shal ST, §AT Sl O Hal A9,
T shl 90T gl o0, o Iie &8 O g df g8 &7 diiar?

Options:

1. v &dr
2. = 9T
3. = U
4, = =T

Question Number : 12 Question Id : 54592733746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language,

please don't go there is coded as ta pi Ki si
this is amazing home is coded as fa rili hi
please come at home is coded as sini jili
there is party at home is coded as za nilirita
What is the code for 'home’ ?

Options:

1. = ta
2. % Sl
3.v1i
4. = fa



Question Number : 12 Question Id : 54592733746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk TATRTrd &g #INT A,

please don't go there &T IS & ta pi ki si
this is amazing home T 18 & fa ri li hi
please come at home &T 15 & si ni ji i
there is party at home #T &5 & za ni li 1 ta
'home' T HIg AT &7

Options:

1. = ta

2. % gi
3. v i
4. = fa

Question Number : 13 Question Id : 54592733747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four friends — F, G, H and ] are playing carom. F is sitting to J’
s immediate right. H is sitting to G’s immediate left. Who is
sitting exactly opposite F?

Options:

1. =]
2.v G
3.« H
4.« Jor H

Question Number : 13 Question Id : 54592733747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IR ad - F, G, H3IR J A FT B &I F, J & TheH
T H T8 3 T &1 H, G & UeheH FaTel H &0 §aT &1 F
& &k TTRIT i doT &7

Options:

1. = J
2. v G
3. = H
4. = J I H

Question Number : 14 Question Id : 54592733748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Read the information given below. Assume everything given
here to be true even if it is in variance from facts in real life
and answer the question that follows.

A teacher weighed five students — Daya, Jaya, Mala, Renu and
Lata. And found that:

Daya weighed one kg more than Renu.
Jaya weighed three kg less than Lata.
Mala weighed two kg more than Jaya.
Renu weighed five kg less than Lata.

Which among these statements is NOT correct with regards to
the information given above?

Options:

1. = Jaya is heavier than Renu.
2. = Mala 1s lighter than Lata.
3. v Daya is heavier than Jaya.



4, = Renu is lighter than Daya.

Question Number : 14 Question Id : 54592733748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aid &7 98 SIeiehlT U¢| T@T &f 95 &L &I hl T Al o, ol
&7 g8 grEdidsh Sgd H dzar @ e & 3 39 ued &1
3cadY 2

Uk TR18Teh o 9T @Al ST dofel [RAT - ST, ST, d—||c>||,i‘Ul
AR oar 3R 9T o

2T T Tolel I0] & Uk kg 37TER o]

STIT T Jofel ol & diel kg e AT
AT T Tolel STAT & & kg 3TSR 27|
I6] T Tolel o1 F 9 kg A 2T

FW AV 3T herel h STl & TSR SoTd & Flel AT TET
oTgl 7

1. % STIT T Joldl Tﬂlﬁaiﬁl?’é’l
2. % ATl T Tolol oIdT T Beohl &l
3. v AT & Told AT 8 T+ &
4.

% YT T dofel AT H Eoohl ¢

Question Number : 15 Question Id : 54592733749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = Proteins

2. v Nutrients

3. » Carbohydrates
4. = Fats

Question Number : 15 Question Id : 54592733749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few av Jepedtr & &, diT v @feaag ol @ @A &
BTollleh, Ueh Tdehed 3T dlel hT i@ olal &1 39 &hed &
el he ST ST T 3TeldT &1

Options:

1. = Hidlel
2. v QYR dcga

3. = HhIAEI5eC

4. = gdr

Question Number : 16 Question Id : 54592733750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that arranges the words given below in the
most appropriate and meaningful sequence.

1. Fruit
2. Sapling
3. Juice
4. Seed
5. Tree



Options:

1.x2-4-5-1-3
2.x2-3-1-4-5
3.v4-2-5-1-3
4. x1-3-4-5-2

Question Number : 16 Question Id : 54592733750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A BT 30 orsay I Tad ERECTY 3T g1 3TeIohA pap
AT e dTel [aFeT FT TIT F|

1. Fruit
2. Sapling
3. Juice
4. Seed
5. Tree

Options:

1. = 2
2. % 2
3. v 4
4. = 1

4-5-1-3
3-1-4-5

2-5-1-3
3-4-5-2

Question Number : 17 Question Id : 54592733751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Analyse the given information and answer the question that
follows.

The criteria for selecting a sales officer in a pharmaceutical
company have been given as under:

The candidate must:

1. Be a graduate in any stream with at least 50% marks.

2. Be a post-graduate in sales and marketing with 50% marks
3. Be more than 21 years old and less than 30 years old on the
date of application

The following exceptions apply if a candidate has:

A. Scored less than 50% marks in either graduation or
post-graduation but has completed a certificate course in
Digital Marketing. Subject to fulfilling all other requirements,
such a candidate will be referred to General Manager,
Marketing

B. Fulfilled all other criteria but is more than 30 years old but
less than 35 years old will be referred to VP, Human
Resources.

Himmat Singh is a Science graduate with 54% and
post-graduation in Sales and Marketing Management with
43% marks. He is 28 years of age. Last year, he completed a
certificate course in Digital Marketing.

What decision should be taken about this candidate?

Options:

1. = The candidate should be selected.
2. = The candidate should be rejected.



3. v The candidate should be referred to the General Manager,
Marketing.

4. = The candidate should be referred to the VP, Human
Resources.

Question Number : 17 Question Id : 54592733751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



&I IS SATTRRT FT FeAvor =¥ 3 39 wed T Icag & o

forFeT woh &I
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1. H 8 FH 50% 37h & Gy fordr o &H 7 Taes &l
2. 50% 31T & @Te foser 3T 90T # FATdehical &

3. 3Aga T A 21 a¥ @ 31k 3T 30 a¥ & &7 &

I 3FAIGAR & U Toieafali@d 379a1g o] &ld &

A. TATTSH IT TATTRIcaT H 50% T FH 3F &i8e [T, offchel
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HTERYHATHT T YT el & 3edlel, OF 3FAGAN I AETIEH,
fagurer & Tow &= Sreen|

B. 37 FT ATetcar s [T foram dferet 30 a¥ & 1T 37
T &, ofchel 35 ¥ & FH 3MY & AFN Kl dH UHIse, Al
garereT o Torw ST Sream|

BFrAd % 54% & 1 AT Tordes 3T 43% 37T & g1y
fS9ehT TT Ouord uead H TATdehical &1 38T 3H 28 I &l
el @rer 39a f3foicer AR Awféftvhe Rt T Fham

5 3FAICAN & §N H FaT @0 ol Srer aige?

Options:

1. = 3FAICAR T I gl AR




2. % 3FAICANR I TR HT AT FTar T80
3. v 3FAICAN I AGVEYh, QAU & 91 AT ST gy
4. = 3FHIEAN &I VP, AT §OTga o 919 T SileT dIigu|

Question Number : 18 Question Id : 54592733752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In this question, two statements have been given followed by
two conclusions numbered I and II. Assuming that all
information in the statement is true, analyse the two
conclusions together and determine whether any of them
logically and definitely follow(s) from the information given
in the statement.

Statements:

I. All caps are gloves.
II. Some gloves are shoes.

Conclusions:
I. Some shoes are caps.
II. Some shoes are gloves.

Options:

1. = Only conclusion I follows
2. v Only conclusion II follows
3. = Both I and II follow

4. = Nelther I nor II follows

Question Number : 18 Question Id : 54592733752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ST Wed H, & Yo | 3T || & ar oy f&w v & I8 Al
gV o Fuet & Tl STl Hea & oY oSyl T T TTY
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Options:

1. % haoel foIsehy | T[0T HIAT &
2. v shad TSy || HTEOT Tl Y
3. « Al forsary | 3T 1| 37rEor e §
4. = o A | 3 & Er || TTEI0T FIAT &

Question Number : 19 Question Id : 54592733753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In this question, a statement has been given, followed by two
assumptions numbered I and II. Analyse the two assumptions
together and determine which of them is/are implicit in the
statement.

Statements: Read a lot if you want to be read.

Assumptions:

I. If you want to go for higher education, you need to read a
lot of books.

II. There is no use reading a lot of different books as they are
all saying the same thing.

Options:

1. = Only assumption I i1s implicit.

2. » Only assumption II is implicit.

3. v Nelther assumption I nor assumption II is implicit.
4. = Both the assumptions are implicit.

Question Number : 19 Question Id : 54592733753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



=g U H, U wud fgar = §, g s | 3w 1l Fray
JRUNY & Teh TTL el gROMT FT faeavor i 3w @aiRa
F b 38 & Fid I/d s A fed g

el IS T YT dTEd %?—I’ragd F erey

IOV

. afe 3o 3= foem & forw e ulsﬁﬁ,a’rmagﬁ?ﬁ
fordTs Ugel hI 3TTeThdT &I

Il.agﬁﬁﬁrﬁﬁrd TR R Tgel T KIS HET LT &
Flfer & G Uk &r 91T g B gl

Options:

1. = Fad gror | fafga &

2. % hael 9RO || fATET &1

3. v o dr 9RO | 3T o & aror || fafgT &
4, » AT gRONT TATeT &1

Question Number : 20 Question Id : 54592733754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following number series:

26, 33, 41, 50,

Options:

1. » 58
2. % B2
3.+ 60
4. % 64



Question Number : 20 Question Id : 54592733754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeaTofEd dEaT el T AT HL:

o,

bt

26, 33, 41, 50,

Options:

1. = 58
2. % 62
3. v 60
4. = 64

Mental Ability?2

Group Number : 2
Group Id: 5459271672
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability2

Section Id : 5459271672

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1

Sub-Section 1d: 5459272006



Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592733755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong number in the following number series:

10, 22, 34, 48, 58

Options:

1. » 22
2. % 34
3.v48
4. % 58

Question Number : 21 Question Id : 54592733755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TrTolad T&ar s@er # @ el &I AT

10, 22, 34, 48, 58

Options:

1. = 22
2. % 34
3. v 48
4. = 58

Question Number : 22 Question Id : 54592733756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

26:78::34:7

Options:



1.~ 102
2. % 112
3.= 136
4. % 142

Question Number : 22 Question Id : 54592733756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

38 @hed T T Y oI dIERT 96T § 38T R & garad
g o 9hR & ggell dCaT gEdl §EAT 8 Haidd g

26 1 78 34 7

Options:

1. ¢v 102
2. % 112
3. % 136
4. = 142

Question Number : 23 Question Id : 54592733757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

7:340::6:7
Options:

1.+ 213
2. % 216
3. % 219
4. % 222



Question Number : 23 Question Id : 54592733757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

38 @hed T T H SF dERT &I § 34T YR & garad
¢ o9 9 @ ugell dCaT I §EAT @ el g

7340 = 6: 7
Options:

1. v 213
2. » 216
3. = 219
4. = 222

Question Number : 24 Question Id : 54592733758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

96, 64, 128/3, , 512/27

Options:

1. = 243/9
2. = 281/9
3. % 221/9
4. v 256/9

Question Number : 24 Question Id : 54592733758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFITTaT J&ar 4&enr # Gk TEAT T ATT FL

96, 64, 128/3, , D12/27

Options:



1. = 243/9
2. = 281/9
3. = 221/9
4. v 256/9

Question Number : 25 Question Id : 54592733759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

120, 210, , 405, 510, 620

Options:

1. = 306
2. % 315
3. v 305
4. % 320

Question Number : 25 Question Id : 54592733759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

feTTaT J&ar 4&enr | oI TEAT I ATT FL

120, 210, , 405, 510, 620

Options:

1. = 306
2. = 315
3. v 305
4. = 320

Question Number : 26 Question Id : 54592733760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If (15 + X) > (20 - y), then which among the following is true?

Options:

1.=(X+y)<5
2. % (X-y)>3
3.v{(X+y)>5
4 = (X-y)<3

Question Number : 26 Question Id : 54592733760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Iy (15 + x) > (20 - y) &, o fe=fofEa & @ wia a1 g
X4

Options:
1. = X +y) <5
2. % (X - y) =3

3. v (x +y)>D5
4, = (X -y) <3

Question Number : 27 Question Id : 54592733761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cyclist knows six different routes from A to B. From Bto C
he knows three different routes and from C to D he knows
five different routes. How many routes does he know from A
to D?

Options:

1. = 45
2. % 15
3.+ 90
4. % 20

Question Number : 27 Question Id : 54592733761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tk AT dlelh A & B dF & g RBfficad AW & Sear &
B Caragdid Affead A A Iaar g 3k Cc @ D
d dg Ui [affieer A Y Saar &1 a8 A @ D o fordat
AT ST STl &7

Options:

1. = 45
2. = 15
3. v 90
4. = 20

Question Number : 28 Question Id : 54592733762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a party the eight people present all shake hands with each
other once. How many handshakes will there be altogether?

Options:

1. » 400
2. % 30
3. % 250
4. v 28

Question Number : 28 Question Id : 54592733762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U UET H T S ST Uk SN Tk gy & g fHend
@ﬁw%ﬁmﬁww

Options:

1. = 400
2. % 36
3. = 250



4. v 28

Question Number : 29 Question Id : 54592733763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which two numbers should be interchanged to make the
below equation mathematically correct?

16 x5-70+ 2+ 100 =100
Options:

1. % 5,2
2.+ 70,100
3. % 5,100
4. = 16, 70

Question Number : 29 Question Id : 54592733763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s U 7T FATRIOT FY AUCERT FT & TgT Fellel o olw fohet
2l GEIT3T Y TWEW TATATART AT SATar I1ige?

16 x 5 - /70 + 2 + 100 = 100

Options:

1. = 5, 2

2. v 70, 100
3. = 5, 100
4. = 16, 70

Question Number : 30 Question Id : 54592733764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following Venn diagrams best represents the
relationship between cats, mammals and pets?

Options:



1. (A0

2.%t

3. %

2 @)

Question Number : 30 Question Id : 54592733764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faraeEaa 7 O Sl @71 39 3T Pfeaal, saaaiar 3T
Telc], STeTa’l & S o Hae I Gl 37esT elidr &7

Options:

1.« QO

2.%




.o @

Question Number : 31 Question Id : 54592733765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following figure, square represents joggers, triangle
represents Scientists, circle represents Indians and rectangle
represents mothers. Which set of letters represents mothers
who are joggers?

Options:
1. = DC
2. % BC

3.v CJF
4. » FGH

Question Number : 31 Question Id : 54592733765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaf@d 3l &, g9 et +T aeiiar &, Herror darferss
T T &, ged WA T ST § 30 3 A3 o)
22T &1 38T T i AT T AT Sl 22TdT ST SN &7

A
E
i}
B | C
K +—4

Options:




1. = DC
2. = BC
3. v CJF
4. = FGH

Question Number : 32 Question Id : 54592733766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Padma came out of her house to perform pooja. From the
door, she walked 10 steps straight to reach the Tulsi plant.
She offered water and turned CW 270 degrees and prayed to
the rising Sun. Which direction was Padma facing when she
came out of her house?

Options:

1. * North
2. v South
3. = East

4. = West

Question Number : 32 Question Id : 54592733766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T YSlT el & oIV 370 &0 § fesherdl &1 S3arsl &, 98

qre gt & died ok qé’ﬂﬁé?ﬁtfmchw TJoTdl &1 39
qTelT T dereRer T 3w CW 270 f3alt @ sgar foar 3R 3o
I HT greTelr Tl g7 TR e H of oW g U 3 H

IGETIN

Options:

1. = 3cdd
2. v aieuT




3. = qg
y,
4, = ITEIH
Question Number : 33 Question Id : 54592733767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In this question, two statements are given followed by an
inference. Analyse the statements and the inference and
determine whether the given inference can be drawn from
the statements.

Statements:
I. Most good singers are also good dancers.
II. Shaheen is a good singer.

Inference: Shaheen is a good dancer.

Options:

1. * The given inference is definitely true.
2. = The given inference is definitely false.
3. v The given inference could be true or false.

4. = This inference cannot be drawn from the given
statements.

Question Number : 33 Question Id : 54592733767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



=g 9o H, &7 FUl & dG Ueh AT ST STl &1 Shear
3R STATAT T faeedyor & 3R faTia T f& fqu e
HAATSAT T FAAT T foAshTell ST FehelT & AT LT

EXI K
. 3TTRTT 3% AMTF TS ades HT 8 &l
||, oTETel Uk 3TTeSI MR &1

3TeTHTST: eTETel Weh 37TESl aldh &

Options:

1.« T a1 AT T

2. « e arAT 3MeTATS TofeTd ¥ & 3T B

3. v T 9137 (AT T AT AT & TeheT ¢
4. » Ig AT U ¢ Ferel A W& LT gl

Question Number : 34 Question Id : 54592733768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which answer figure will complete the pattern in the
question figure?

N
WE

Options:




3.v

4 %

Question Number : 34 Question Id : 54592733768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

hiel HI 3ccl 3Tl WeeT 3Tpfcd & Yeel I [T FIM?

N
WE

Options:




Question Number : 35 Question Id : 54592733769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options is the wrong figure in the
series?

OB +|x o * O N +|X

* 8] #|+ H 9] x| % O

Options:

1.vA
2. % B
3.5 C
4. %]

Question Number : 35 Question Id : 54592733769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeafofEd # @ i A7 dehed STl H el 3Thld &7

OB +(X o * O N +|X
E K * * Q
* O «|+H O x|* o
a b c d
Options:

1. v A
2. = B



3. = C
4. = D

Question Number : 36 Question Id : 54592733770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Figures given in which of the options is most similar to the
two figures given in the question?

VB@Q
SAVAISR )

Options:

R T
RN

[ &
2.@"‘7“

V 4
3« 4&

S
100

Question Number : 36 Question Id : 54592733770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forg fasheT & & 7% 3mpfaal wead & & 1 ar AT °
o 3T TATAAT TEAT &7

vumq
SAVAISX )

Options:

R
1.« N4

[0 &
2_\%?17['

V 4
3« B

® N
4 00

Question Number : 37 Question Id : 54592733771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following cubes in the answer figure CANNOT
be made based on the unfolded cube in the question figure?

W O
X

Options:

Aall5

Question Number : 37 Question Id : 54592733771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3 3T & forE oeT &Y el 3TRfd 7 Wehe Ol & 3MUR

T el TATIT ST ThdT?

%l%
W O
X

AT
1. ¢

O

%
2. %

4« X

Question Number : 38 Question Id : 54592733772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From the given answer figures, select the one in which the
question figure is hidden/embedded.

Options:

%
X

R

3. v

Question Number : 38 Question Id : 54592733772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



& ¢ 3 RN 7 8, 37 UH HT Tl Y [oTTH Teal
3pfa ffga &

Options:

R
R

Question Number : 39 Question Id : 54592733773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A piece of paper is folded and punched as shown below in the
question figures. From the given answer figures, indicate how
it will appear when opened.

mjrilcahs

Options:

4, o }m«ﬂbmc

Question Number : 39 Question Id : 54592733773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ral Mpicd # e Q@ 3R 90 & gohs I AlshT 3HA
3% Fe 17 &1 &1 715 e AT 8, 3T w fR 38 e
STl 9T I ST @S aam|

Options:



Question Number : 40 Question Id : 54592733774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a mirror is placed on the line MN, then which of the answer
figures will be the right mirror image of the given figure?

M

/|
S

Options:

1,%(9




|t

4 = |Cw D

Question Number : 40 Question Id : 54592733774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg Uk gUoT T @M MN 9T T&T 997 &, ar hie AT e
3TRTT &1 a8 3Mpia T F&T gUor gidfss gei?

M

i
D

Options:

| et}
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Question Number : 41 Question Id : 54592733775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



1s performed to honour the gods ‘Lok Devtas’ as a
thanks giving ritual in Jammu and Kashmir.

Options:

1. * Dumhal
2. v Kud
3. » Bayaalata

4. « Namgen

Question Number : 41 Question Id : 54592733775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SFH 3N FAR A gegarg 3o dTel 3esold &
FT H 'Ok 2Tl T GFATA e & ToIw Rar S1ar &1

Options:

1. = gFgrel

2.&??
3. = STITeIAT
4. % ATHST

Question Number : 42 Question Id : 54592733776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following festival is not a harvest festival?

Options:

1. = Onam

2. » Harell

3. = Naukhail
4. v Durga Puja

Question Number : 42 Question Id : 54592733776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forIfaEad & & i 97 e~ BEd AgN T8 &7

Options:



. 3o
- g
Ates
A

Question Number : 43 Question Id : 54592733777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which of the following states is Bhatiall folk song related
to?

Options:

1. * Maharashtra
2. v West Bengal

ol
#®

3. = Assam
4. = Rajasthan

Question Number : 43 Question Id : 54592733777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ # O Fg U & iy #Afedrer e i gaiad §7

Options:

1. = FAERISE
2. v UTedH FaTel

3. * 3EH

4. = JToTFUATA

Question Number : 44 Question Id : 54592733778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a type of religious songs often sung to a newly wed
bride or to an unmarried girl, who is expected to get married
in near future in Himachal Pradesh.

Options:




1. = JThoorl
2. v Ainchaliyan
3. = Birha
4, = Kajari

Question Number : 44 Question Id : 54592733778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TBHATTT USer A Ush Wb Rl ATTH T § o8
HFHT Ush Ad(daIad Gegsl IT U 3faaiigd sl & felv
AT STt &, TR fashe vfasg # odl 8l &I 3FAIE &

Options:

1. = ST
2. v raferm

3. » TS&T
4. = FoNT

Question Number : 45 Question Id : 54592733779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the current (as of June 2019) bank rate set by Reserve
Bank of India?

Options:

1. = 0.0575
2. » 0.0525
3.+ 0.06

4. = 0.0625

Question Number : 45 Question Id : 54592733779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ARAT o d ganr fauia adArer (S 2019 d) 8 &
T 87




Options:

1. = 0.0575
2. = 0.0525
3. v 0.06

4. = 0.0625

Question Number : 46 Question Id : 54592733780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the current (as of June 2019) cash reserve ratio set by
Reserve Bank of India?

Options:

1. = 0.0525
2. % 0,0425
3. = 0.05
4, v 0.04

Question Number : 46 Question Id : 54592733780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARG Re@ s @y uiRa aaaATe (ST 2019 o) =6
IRTETT 3reqare a7 &2

Options:

1. = 0.0525
2. % 0.0425
3. = 0.05
4. v 0.04

Question Number : 47 Question Id : 54592733781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who changed the time of budget presentation from 5 PM to 11
AM in 19997

Options:



1. = P. Chidambaram

2. v Yashwant Sinha

3. = Morarjl Desal

4. = R, K. Shanmukam Chetty

Question Number : 47 Question Id : 54592733781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1999 # Solc YEIT T GHI A 5 oo & Fog 11 ol dh
forae sgar oam?

Options:

1. = 9. RgeawH

2. v goad ear

3. * ARSI ¢HTS

4. = AT, . AAHADHA AL

Question Number : 48 Question Id : 54592733782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the energy that is trapped inside each atom.

Options:

1. = Thermal Energy

2. v Nuclear Energy

3. » Mechanical Energy
4. = Electrical Energy

Question Number : 48 Question Id : 54592733782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Tg ol & S Ucdsh AT k 37eT Bl g

Options:

1. = U Sl
2.quwgﬁr‘r



3. % Ik Soll

4, = mqu EYG1

Question Number : 49 Question Id : 54592733783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s an example of a metalloid.

Options:

1. = Iron

2. » Lithium
3. ¢ Silicon

4. = Hydrogen

Question Number : 49 Question Id : 54592733783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh 3YYTT T Teh SeTELV] Y

Question Number : 50 Question Id : 54592733784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the plant from which biodiesel is produced.

Options:

1. = Eucalyptus
2. » Indigo

3. v Jatropha

4. = Cinchona

Question Number : 50 Question Id : 54592733784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ag uiaT & 998 SRS ST 3cUlce RaT SITdT &

Options:

1. = fererfarT
2. » i3
3. v SR
4. = TRl

Question Number : 51 Question Id : 54592733785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

are commonly known as sea walnuts.

Options:

1. v Ctenophora

2. = Platyhelminthes
3. » Aschelminthes
4. = Annelida

Question Number : 51 Question Id : 54592733785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HI IMAGN W FHT 3 (@ dlofeic) & ¥ A

SATeT ST &

Options:

1. v CAThRT

Question Number : 52 Question Id : 54592733786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Animals belonging to phylum are fundamentally
characterised by the presence of a notochord, a dorsal hollow
nerve cord and paired pharyngeal gill slits.

Options:

1. v Chordate

2. » Hemichordate
3. = Echinodermata
4. = Anthropoda

Question Number : 52 Question Id : 54592733786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e (hIelH) 8 FEAd Seladl T Heol 7 & Teh
SICIehlS, Teh Jo&T FNEell AT IS 3N JTHT FLNaTel
fter elcq =1 3uiewfa [T &

Options:

1. v Toolehl

2. % gHRISCT
3. * URISAISHIC]
4,

% Flewdrg

Question Number : 53 Question Id : 54592733787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When was the Environment (Protection) Act enacted?

Options:

1. = 1982
2. % 1972
3. = 1990
4. v 1986

Question Number : 53 Question Id : 54592733787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



oTeor (EaTon) sifafes s ey forar s ar?

Options:

1. = 1982
2. % 1972
3. = 1990
4. v 1986

Question Number : 54 Question Id : 54592733788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When was the Wildlife (Protection) Act enacted?

Options:

1. = 1975
2. % 1968
3.+ 1972
4. = 1980

Question Number : 54 Question Id : 54592733788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gedsitg (GYeTon) fAfTd e o) fram ar=r ar?

Options:

1. = 1975
2. = 1968
3. v 1972
4. = 1980

Question Number : 55 Question Id : 54592733789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When did the Prime Minister launch the Swachh Bharat
Mission?

Options:



1. v 2nd October 2014
2. » 2nd October 2015
3. = 2nd October 2016
4. = 2nd October 2013

Question Number : 55 Question Id : 54592733789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TITAHAT o T JRd ATHITT ke %FW

Options:

1. v 2 3/ 2014
2. » 2 37gs 2015

3. » 2 3rREET 2016
4. = 2 3rFET 2013

Question Number : 56 Question Id : 54592733790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Narmada river rises to the summit of hill in
Madhya Pradesh.

Options:

1. » Tapovan

2. = Naghijiri
3. v Amarkantak
4, « Maikal

Question Number : 56 Question Id : 54592733790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e wael H Her adr TESr & fRIET de §¢
ST &l

Options:

1. % dage




2. % SATIISRT

3. v 3TAThCH
4. = Hepol

Question Number : 57 Question Id : 54592733791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Guru Shikhar is the highest point of range.

Options:

1. = Himalaya

2. v Aravalli
3. » Purvanchal
4. = Vindhaya

Question Number : 57 Question Id : 54592733791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

% TRz TATHTST T IeeraA fog §

Options:

1. = AT
2. v 3ol
3. = qdierel
4, » foex

Question Number : 58 Question Id : 54592733792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the deepest trench known on Earth.

Options:

1. v Mariana Trench

2. » Puerto Rico Trench
3. » Java Trench

4. = Tonga Trench



Question Number : 58 Question Id : 54592733792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gedl 9T AT T ST T &

Options:

1. v ARG a1d
2. » qUERfTRT et
3. = SIT@r I
4, « TR I

Question Number : 59 Question Id : 54592733793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Strait of Hormuz connects the Gulf of Oman and the

Options:

1. = Gulf of Aden
2. v Persian Gulf
3. = Gulf of Mexico
4. = Gulf of Kutch

Question Number : 59 Question Id : 54592733793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BIHAST STISHSHEY 3NATS T ST 3T ST AT &

Options:

1. = 31&eT T =TS
2. v BRY T HTaT
3. = RAToaehT T FTET
4. % e Sl Tal

Question Number : 60 Question Id : 54592733794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which among the following crops is not an example of Rabi
crop?

Options:

1. » Wheat
2. v Rice

3. » Barley
4. = Mustard

Question Number : 60 Question Id : 54592733794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT ™ H & hidd AT Bl J8T sl HHl hl 3&TEL0T dal &7

Options:

1. = 318

2. v didol
3. % St
4. = FIET
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592733795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following countries has the largest border
line with India?

Options:

1. = China

2. = Afghanistan
3. v Bangladesh
4. = Pakistan

Question Number : 61 Question Id : 54592733795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fraeEaa § O ffg o5 i 9IRT & T 998 o957 dTAT &7
&7

Options:

1. = lel
2. = 3RINTaEdT
3. v gidemdel

4. = Yiferedra

Question Number : 62 Question Id : 54592733796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the first discovered site of Indus Valley
Civilization excavated in 1921.

Options:




1. v Harappa

2. = Allahdino

3. » Mohenjo-daro
4. = Alamgirpur

Question Number : 62 Question Id : 54592733796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1921 & Farg 1 a5 WY G FeIAT T Tgel
EIST AT A &

Options:

1. v &3c4T1
2. % 3Tcollgdlal
3. = HIgd SlEsr

4. = 31|c=1d-|dﬁ<g<

Question Number : 63 Question Id : 54592733797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

was the capital of Maurya Dynasty.

Options:

1. = Rajgir

2. = Kanchipuram
3. » Puhar

4. v Pataliputra

Question Number : 63 Question Id : 54592733797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT TSaer T TTGTaT AT

Options:

1. = IR

2. % FHITIIH
o




Question Number : 64 Question Id : 54592733798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Gandhiji led the famous Dandi March from Sabarmati
Ashram near Ahmedabad on

Options:

1. = 17th March 1928
2. = 15th May 1935
3. = 16th April 1932
4. v 12th March 1930

Question Number : 64 Question Id : 54592733798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

arefaT & T HEHAGIEG o IF TeACT 3HH &
viiE &ET AT FT aAded [T T
Options:

1. = 17 AT 1928
2. = 15 A% 1935

3. = 16 3T8er 1932
4. v 12 AT 1930

Question Number : 65 Question Id : 54592733799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the original name of Babur?

Options:

1. v Zaheeruddin Mohammed
2. » Naseeruddin Mohammed
3. # Jalaluddin Mohammed



4, « Nooruddin Salim

Question Number : 65 Question Id : 54592733799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIS hT Hel ofTH T 977

Options:

1 [ [ b

. v Slalbgld HIgFHS
2. * FOISEIA AGFAG
3. % STellol 3% AIGFAT
4. % STl HellH

Question Number : 66 Question Id : 54592733800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

During the tenure of
fought.

Options:

1. = Lord Bentick
2. » Lord Hastings

the Second Anglo-Sikh War was

3. = Lord Curzon
4. v Lord Dalhousie

Question Number : 66 Question Id : 54592733800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

% FRRTT s NI, ST IA-FE Ig o3T AT oT|

Options:
1p. x oS sfcah
2. = dlis gieesd
3. % OIS Shold
4. v oS Sogiar

Question Number : 67 Question Id : 54592733801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




The famous Bibi ka Magbara at Aurangabad was constructed
in the memory of

Options:

1. * Mumtaj Mahal
2. = Jahan Ara
3. v Rabla-ud-Daurani

4. = Noor Jahan

Question Number : 67 Question Id : 54592733801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MemETe # uiAg 1§ T AhsT FT [AATOT Fr
AT A TR aram o

Options:

1. = HAAdTST A

2. % SIgldd 3T
3. ¢ Q'Iﬁ?IT—BE'-Eng?ﬁ'

=r

4. = FITTE

Question Number : 68 Question Id : 54592733802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

She is best known for being the first woman president of the
UN General Assembly. She served as the president of the
Indian National Congress twice. Who 1s she?

Options:

1. v Vijaya Lakshmi Pandit
2. » Sonia Gandhi

3. = Indira Gandhi

4. = Annie Besant

Question Number : 68 Question Id : 54592733802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ig T IS¢ HETTHT T Tgoll Al 3reaeT gt & fov
garfdes Ser SIdr &1 3e@lal &l 8 AR TS hiadg o
Mee & T H FI RAT| a8 Hid &7

Options:

1. v Ta=ar agdAr afsq
2. » @lfelgr amey

3. = 2T amedy

4. » TAT SEC

Question Number : 69 Question Id : 54592733803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

was the first person to be awarded Arjuna Award
for Archery.

Options:

1. v Krishan Das

2. » Deepika Kumari
3. » Tarundeep Rai
4. = Dola Banerjee

Question Number : 69 Question Id : 54592733803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TfdedT & ol 3ol TWERR & HFATAT Blal
aTel Ugel saferd o

Options:

1. v he0T g
2.%zﬂﬁa«‘r§mﬁ
3. » OSUET I

4. % BT Selaif




Question Number : 70 Question Id : 54592733804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kailash Satyarthi received the Nobel prize in 2014 for his
contribution in the field of

Options:

1. = Physics

2. v Peace
3. = Literature
4. = Medicine

Question Number : 70 Question Id : 54592733804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Former gardl s 2014 H * &7 H 3% PG
%ﬁvaﬁﬁwﬁm|

Options:

1. = #ifaehT
2. v o
3. = @Ifged
4. = gar

Question Number : 71 Question Id : 54592733805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the author of "The Secret of Nagas™?

Options:

1. = Amitav Ghosh
2. = Amit Chaudhuri
3. = Amartya Sen

4. v Amish Tripathi

Question Number : 71 Question Id : 54592733805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

"T Tlehe 3R ARINST" & ol&sh el A7



Options:

1. = 37TAAT =Y
2. = AT ey
3. * AT el

4. v AN FUTST

Question Number : 72 Question Id : 54592733806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following is the Secretary General of World
Wide Fund for nature-India?

Options:

1. v Ravi Singh

2. = Ajay Banga

3. = Yassin AL Suroor
4. = Sunil Bharti Mittal

Question Number : 72 Question Id : 54592733806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafad # & siad upfa & v fGegeard @ (a3 arss
HUS X ood)-37SaT T AT &7

Options:

1. v U9 N8

2. % 37SI Sl

3. » T 37T T
4. = Faitel AT TAcTer

Question Number : 73 Question Id : 54592733807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When was the Reserve Bank of India nationalised?

Options:

1. = 1955




2. % 1957
3. % 1952
4. v 1949

Question Number : 73 Question Id : 54592733807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT RSAT ok T TCCITRIOT S TehdAT AT AT?

Options:

1. = 1955
2. = 1957
3. = 1952
4. v 1949

Question Number : 74 Question Id : 54592733808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the maximum duration for which a Lok Sabha/State
Legislature may function from the date appointed for its first
meeting?

Options:

1. = 10 years
2. % 3 years
3. % 1 year
4. v 5 years

Question Number : 74 Question Id : 54592733808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o T RIS TUTeTASS 3 Ual Ugell dah & olw
fagera fofr @ 3fOehas 31afer AT g1 |ehell &7

Options:

1. = 10 Hlel




2. % 3Ty
3. % 1 ay
4. v 5 ¥

Question Number : 75 Question Id : 54592733809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following articles specifies the number of
seats for the Lok Sabha?

Options:

1. = 80
2.v 81
3. % 56
4. %51

Question Number : 75 Question Id : 54592733809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafaad # & Sla AT Flefel ShTHT T HIST T HEAT
fAfese ear &7

Options:

1. = 80
2. v 81
3. = 56
4. = 9T

Question Number : 76 Question Id : 54592733810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Constitutional Amendment increased the retirement
age of high court judges from 60 years to 62 years.

Options:

1. v 15th



2. = 14th
3. = 20th
4. = 10th

Question Number : 76 Question Id : 54592733810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gaerferer el o 3T AT & «grarefre $r
Harfergicer s 3 60 ¥ & et 62 a¥ HT &

Options:

1. v 15 @
2. % 14 3
3. = 20 9
4, = 10 @

Question Number : 77 Question Id : 54592733811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the age of retirement of a judge of High court?

Options:

1. v 62 years
2. % B5 years
3. % b8 years
4. = 60 years

Question Number : 77 Question Id : 54592733811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T FATATe & TATATHIRT T HATegicd T 3G 4T §7

Options:

1. v 62 dHlel
2. = 65 Y
3. = 68 Y




4. = 60 9¥

Question Number : 78 Question Id : 54592733812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

won the Pro Kabaddi League Season 6 of 2018.

Options:

1. = Gujarat Fortune Giants
2. = Jaipur Pink Panthers
3. = Patna Pirates

4. v Bengaluru Bulls

Question Number : 78 Question Id : 54592733812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& 2018 T UY FHessl o9 dloled 6 STl

Options:

1. = INIT Hicdd STACH
2. » SR U Tord
3. % OcadT Usicy

4. v S5 T
o o

Question Number : 79 Question Id : 54592733813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won the Women's Singles Title in Madrid Open tennis
20197

Options:

1. v Kiki Bertens

2. » Simona Halep
3. » Naomi Osaka
4. = Ashleigh Barty

Question Number : 79 Question Id : 54592733813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AZT e a9 2019 #H AR Uehel T o g Sidr?

Options:

1. v TRehT T

2. = TOHAAT gy
3. = FATAT TR
4, = grel &TCS

Question Number : 80 Question Id : 54592733814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

India finished its campaign at the Cologne Boxing World Cup
2019 with _ medals.

Options:

1. =7
2.v 5
3.%9
4 % 2

Question Number : 80 Question Id : 54592733814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T o Uceh o T2 hielld siregdr aead &9 2019
H 39aT ITHATT FATCT R

Options:

1. = 7
2. v 5
3. = 9
4, = 2

Arithmetic Abilityl



Group Number : 5

Group Id : 5459271675
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271675
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number : 1
Sub-Section Id: 5459272009
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592733815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number when tripled will be exactly divisible by 14, 15
and 16?

Options:

1. = 420
2. % 460
3. = 510
4. v 560

Question Number : 81 Question Id : 54592733815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rl TEIT dlel T & el W 14,15 3T 16 & qoiaan
o= &1

Options:




1. = 420
2. = 460
3. = 510
4. v 560

Question Number : 82 Question Id : 54592733816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of: +/((14.7+2.1)x14+2) = ?

Options:

1.+7
2.% 8
3.%9
4. % 10

Question Number : 82 Question Id : 54592733816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

V(14.7+2.1)x14+2) = ? T Hed AT HL|

Options:

1. v 7
2. % 8
3. = 9
4. = 10

Question Number : 83 Question Id : 54592733817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of: (8x4+2)-{0+2x2)+(9+6x3) = ?
Options:

1. % 2.5
2. % 5.5
3.v8.5



4. % 11.5

Question Number : 83 Question Id : 54592733817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(8%4+2)+(0+2x2)+(9+6%3) = ? T Hed AT Fl|

Options:

1. = 2.5
2. » 55
3. v 85
4. = 11.5

Question Number : 84 Question Id : 54592733818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a-b=5 and a* + b? = 73, then what is the value of ab? (pAq
means p is the base and ¢ is the exponent.)

Options:

1. %6
2. % 12
3.+ 18
4. v 24

Question Number : 84 Question Id : 54592733818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Igfd a-b=5 3N a? + b* = 73 &, AT ab FT AT FAT &2 (p "~ q
ST 3T § p YR § AT q g §l)

Options:

1. = 6
2. % 12
3. % 18
4. v 24




Question Number : 85 Question Id : 54592733819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 5-digit number 247X8 is divisible by 44. Which digit can
replace X?

Options:

1. =1
2. v 2
3.3
4 %4

Question Number : 85 Question Id : 54592733819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DATXS 5-3RT TEAT 44 ¥ AT §l @A X # *iT @
3F UfaEaTa T Thdl &7

Options:

1. % 1
2. v 2
3. % 3
4. % 4

Question Number : 86 Question Id : 54592733820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The price of 5 chairs is equal to the price of 2 tables. If 5 tables
and 10 chairs together cost Rs 2250, then what is the cost of 1
table and 3 chairs?

Options:

1. = Rs 450
2. » Rs 500
3. v Rs 550
4. » Rs 600



Question Number : 86 Question Id : 54592733820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 AT k1 FAT 2 el FT FAT & WS &1 e 5 e
3T 10 AT FT AT FT FrAT 5. 2250 BT &, AT 1 T
3'T1T3W£f£ld-ld AT &7

Options:

1. = % 450
2. = %, 500
3. v % 550
4. = %, 600

Question Number : 87 Question Id : 54592733821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the product of the sum of digits of the smallest 4-digit
number divisible by 6 and the sum of digits of the smallest
5-digit number divisible by 11.

Options:

1. =4
2.% 5
3.v06
4, =7

Question Number : 87 Question Id : 54592733821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

6 & fasnfeld gl aTel 4-31hTT TEAT & T BIC 3T T AT
T 11 @ Qenford get arel 5-3{hT TCAT & T8 DI 3T

& AT R ITAel AT |

Options:

1. = 4




2. = 5
3. v B
4. = 7

Question Number : 88 Question Id : 54592733822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the greatest 4-digit number divisible by 3, 4, 5 and 8?

Options:

1. = 9900
2. % 9920
3. = 9940
4. v 9960

Question Number : 88 Question Id : 54592733822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g8 god 987 4-3hT T&AT hiadr & S 3, 4, 5w 8 &
s &7

Options:

1. = 9900
2. = 9920
3. = 8940
4. v 9960

Question Number : 89 Question Id : 54592733823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a regular week, there are 5 working days of 9 hours each.
A man gets Rs 3 per hour for regular work and Rs 5 per hour
for overtime. If he earns Rs 665 in 4 weeks, then how many
hours did he work for?

Options:



1.« 205
2. % 210
3. = 180
4. % 230

Question Number : 89 Question Id : 54592733823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v ARG gedrg #, ucdw 9 g & 5 Freher Rgw &1 v
AT & AT F1F & v ufa g % 3 3T 319 T7g
O HTH Fla & v ufad o % 5 fAea &1 IS 98 4 gaE
H %. 665 AT &, df 3 Thdel O 1A TRAT?

Options:

1. v 205
2. = 210
3. = 180
4. = 230

Question Number : 90 Question Id : 54592733824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

6 bells commence tolling together and toll at intervals of 2, 3,
4, 6, 8 and 10 seconds respectively. In 30 minutes, how many
times do they toll together?

Options:

1. = 12
2. %13
3.% 14
4. v 16

Question Number : 90 Question Id : 54592733824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



6 gfedT FALT: 2, 3, 4, 6, 8 3T 10 THhs & 3 W Teh
| Sl qF KT &1 30 fAee A, I FRaell I vk @ry
FoTar 7

Options:

1. = 12

2. % 13

3. = 14

4. v 16

Question Number : 91 Question Id : 54592733825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A discount of 25% in the price of rice enables X to buy 8 more
kg for Rs 800. What is the reduced price per kg?

Options:

1. = Rs 20
2. v Rs 25
3.* Rs17.5
4. % RS 22.5

Question Number : 91 Question Id : 54592733825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl AT AT H 25% T B¢ X HT & 800 # 8 3 kg
et H T&EH Todr &1 Wia el =7 HrAd Far &2

Options:

1. = 20 TUT
2. v 25 %qU
3. = 17.5 39U
4. = 22.5 390



Question Number : 92 Question Id : 54592733826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A library has an average 500 visitors on weekends and 250
average visitors on weekdays. What is the average number of
visitors of the month of April which begins on a Sunday?

Options:

1. = 300
2. v 325
3. = 350
4. % 375

Question Number : 92 Question Id : 54592733826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk JERIerd # TCATE & 3d 9 3ade 500 3samerd 31
gcdig & fear # 250 39T 3mmera g8lad &1 3 & #Adla Fr
e 3T kT TEAT AT § S TdA” F F BT g7

Options:

1. = 300
2. v 325
3. = 350
4. = 375

Question Number : 93 Question Id : 54592733827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In A’s opinion, his weight is greater than 54 kg but less than
62 kg, B doesn’t agree with him and says that A's weight is
more than 51 kg but less than 59 kg. The mother of A believes
that the weight of A is greater than 56 kg. If all of them are
correct in thelr estimation, what is average of different
probable weights of X?

Options:



1.+ 575 kg
2. % 57.67 kg
3. » 58.33 kg
4. = 58.5 kg

Question Number : 93 Question Id : 54592733827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A FT T A, 3TFT TolT 54 kg F T+ §, @feraT 62 kg &

FH &, B 399 H&Ad ol ¢ AT Faar g T A &7 o 51 kg
g i &, et 59 kg & FF &1 A shT HIAT T AlTaT & 5
A T Tolal 56 kg & 31fa+ &1 afg T FAT 31Ul 3ie(ATT A Fal
g, dr X & Jfeea gufaa goer &1 3daa F=ar &2

Options:

1. v §7.5 kg
2. = 57.67 kg
3. = 58.33 kg
4. = 58.5 kg

Question Number : 94 Question Id : 54592733828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a student multiplies a number by 2/3 instead of 3/2, what is
the error percentage?

Options:

1. = 22.22%
2. % 33.33%
3. = 44.44%
4. v 55.56%

Question Number : 94 Question Id : 54592733828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



afg RIS B 3/2 FT SETE 2/3 F TEIT IOM FIAT &, AT I
gicrerd 4T 87

Options:

1. » 22.22%
2. » 33.33%
3. = 44.44%
4. v 55.56%

Question Number : 95 Question Id : 54592733829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A watermelon is kept under a sun for 3 days, due to which its
water content reduces from 90% to 80%. If 500 g of water
evaporated, then what was the initial weight of the
watermelon?

Options:

1. = 25 kg
2.v5kg

3.= 10 kg
4. % 20 kg

Question Number : 95 Question Id : 54592733829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh TSl 1 3 faall & Tolv §Io7 &« &M Siar &, e
FRUT SRl TTaT sl AT 90% & TehT 80% & Srar &1 Ife
500 g 9Teir QTfeye @ 91T, 7 TSl T YRIHE dolel 2T AT?

Options:

1. = 2.5 kg
2. v 5 kg
3. = 10 kg




4. = 20 kg

Question Number : 96 Question Id : 54592733830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

40% of the employees of a certain company are men and 75%
of the men earn more than Rs 25,000 per year. If 45% of the
company's employees earn more than Rs 25,000 per year,
what fraction of the women employed by the company earn
more than Rs 25000 per year?

Options:

1. = 2/11
2. v 1/4
3. = 10/17
4. % 1/5

Question Number : 96 Question Id : 54592733830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forell Shualr & FATRAT A F 40% T35 & A 75% &9 ufd
a¥ 5. 25,000 ¥ 9w FATT Tl TG FIaAT F 45% FAART

gty a¥ . 25,000 & 379 HATT &, df S9ar ganr e
ATESTT T i T 39T Ui ¥ . 25,000 & TOF FHAET &7

Options:

1. = 2111
2. v 114
3. = 10117
4. = 1/5

Question Number : 97 Question Id : 54592733831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A shopkeeper expects a gain of 25% on the cost price. If in a
month, his sale was Rs 4500, then what 1s his profit?

Options:

1. = Rs 720
2. » Rs 690
3. * Rs 810
4. v Rs 900

Question Number : 97 Question Id : 54592733831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush geRTelgR 1 AT Hed W 25% T oTeT gl 1 3FATe &
AT Uk AGlT H, 3TFT Whr 5. 4500 o1, O 3HFT oTH FAT 57

Options:

1. = %, 720
2. = % 690
3. = % 810
4. v %, 900

Question Number : 98 Question Id : 54592733832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A retailer mixes 20 kg of wheat at Rs 15 with 50 kg of wheat
at Rs 22 and sells the mixture at Rs 20.5 per kg. What is his
profit percent?

Options:

1. = 0%
2. v 2.50%
3. % 5%
4. % 7.50%

Question Number : 98 Question Id : 54592733832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tk FeXT fashel &, 15 & 20 kg I FT & 22 & 50 kg I F
a1y et % 20.5 Uid kg & BEE & SdT &1 3T oTH
giaerd 4T &7

Options:

1. = 0%
2. v 2.50%
3. * 5%
4. = 7.50%

Question Number : 99 Question Id : 54592733833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X purchased 20 dozens of toys for Rs 6000 and sold all the toys
in pairs. The toys were sold at the price of Rs 70 per pair.
What is the overall profit percent?

Options:

1. v 40%
2. % 50%
3. % 25%
4. % 33.33%

Question Number : 99 Question Id : 54592733833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X o % 6,000 A 20 oie Teilsr @l 31T el etar =i
siifzat & 8= fearn Eela 5 70 ufa ey Fr g o 89 9w
|@wﬁ3mwﬁ?

Options:

1. v 40%
2. = 50%




3. = 25%
4. = 33.33%

Question Number : 100 Question Id : 54592733834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money is to be distributed among A, B, C, D in the
proportion of 6 : 7: 5 : 1. If B gets Rs. 200 more than C, then
what 1s A's share?

Options:

1. = Rs 450
2. » Rs 540
3. v Rs 600
4. = Rs 660

Question Number : 100 Question 1d : 54592733834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WﬁA,B,C,D$W6:7:5:1$H§mT—Fﬁ
faafca forar STam &1 I B & C & 5. 200 3179 fAe, ar A
T TBEdr Tohder &7

Options:
1. = 450 %UU
2. = 540 ¥qU
3. v 600 sqU
4. = 660 FOT
Arithmetic Ability?2
Group Number : 6
Group Id: 5459271676
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 5459271676
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272010
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592733835 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The seats for English, Hindi and Bengali languages in a school
are in the ratio 2 : 5 : 3. The seats for English and Bengali are
to be increase by 50% and 33.33% respectively. The seats for
Hindi are to be decreased by 10%. Now, there will be 300
seats for English. So, how many total seats are now there?

Options:

1. = 1000
2. % 1050
3. = 1100
4. v 1150

Question Number : 101 Question Id : 54592733835 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



Uk el H 3ateiT, 34T 30 Semelr st Fr A 2:5: 3 &
Hequrd A &1 IS 3 9l K fAU diet 7 shAT: 50% 3N
33.33% T gy T o aer & BE & frw gt & 10%
FHAT hT SATe dTell g1 3, 3o & fow 300 e gEi ar, 39

1. = 1000
2. = 1050
3. = 1100
4. v 1150

Question Number : 102 Question Id : 54592733836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rs 460 is divided so that 4 times the first share, 5 times the
second share and 8 times the third share amount to the same.
What is the value of the third share?

Options:

1. » Rs 200
2. * Rs 160
3. v Rs 100
4. % Rs 50

Question Number : 102 Question Id : 54592733836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%. 460 +1 faeniela fham SITaT & aTieR ugel &8 & 4 7@,
g e & 5 I 3R AR e g T AT FT 8 I &l
arel 888 &7 qeg 2T &7

Options:

1. = % 200




2. = % 160
3. v % 100
4. = %, 50

Question Number : 103 Question Id : 54592733837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How much time will it take for an amount of Rs 360 to yield
Rs 72 as interest at 5% pa of simple interest?

Options:

1. = 2.5 years
2. % 3 years
3. % 3.5 years
4. v 4 years

Question Number : 103 Question Id : 54592733837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%. 360 & HTYRUT AT hT 5% W ¥ shl &3 & sTTel & &Y
H T 72 Ut ot A Tohddl TAT S991?

Options:

1. = 25 ay
2. = 3@y
3. = 35 a¥
4, v 4 ¥

Question Number : 104 Question Id : 54592733838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The effective annual rate of interest corresponding to a
nominal rate of 40% per annum compounding quarterly is?

Options:

1. » 44.10%



2. v 46.41%
3. = 44.00%
4. = 48.00%

Question Number : 104 Question Id : 54592733838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

q¥+ Tehgig TTATET A 40% IfdaY T AT eT F 3e®d
SATST shT TATAT TTTVeh &I AT &7

Options:

1. = 44.10%
2. v 46.41%
3. = 44.00%
4. = 48.00%

Question Number : 105 Question Id : 54592733839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X took a loan of Rs 1500 with simple interest for as many
years as the rate of interest. If the interest paid at the end of
the period was Rs 735, then what was the rate of interest?

Options:

1. v 7%
2. % 8%
3. % 6%
4. % 10%

Question Number : 105 Question Id : 54592733839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

X & SUTST HT T & T H F3 g9l & 0 GraRor I+ &+
w5, 1,500 FT1 FOT foram| Ife AT & 3T A I TR
IAT SATST 5. 735 T, ar sATeT 27 41 A1

Options:




1. v 7%
2. = 8%
3. * 6%
4. = 10%

Question Number : 106 Question Id : 54592733840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two trains start moving towards each other when they are
5500 metres apart. 1st train travels at the speed of 25 m/s and
the other one at 30 m/s. After how much time do they meet?

Options:

1. = 80 seconds
2. » 85 seconds
3. = 92.5 seconds
4. v 100 seconds

Question Number : 106 Question Id : 54592733840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

5500 HreT 7 gfT W glel 9T aT ISENTSAT Ueh gy T 37
S¢el ORIl &1 Tgell Loldmsr 25 mis T I & 3 gaEdr 30
mis T ITd & ITEFT AT &1 ar Tohdad AT TS FHeldl?

Options:

1. = 80 HFHS
2. % 85 Qs
3. = 92.5 O3
4. v 100 OFs

Question Number : 107 Question 1d : 54592733841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A train can travel 50% faster than a car. Both start from point
A together and reach point B 90 kim away at the same time.
On the way, however, the train lost about 15 minutes while
stopping at the stations. What is the speed of the car?

Options:

1. » 90 km/h

2. v 120 km/h
3. = 105 km/h
4. » 150 km/h

Question Number : 107 Question Id : 54592733841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh Ye9MMaT Ueh I & 50% ool & IATAT T Tehdl &l Glall Teh
arer foig A § % 0 & 3R TR & AT A fog B o 90 km
T TET §1 BIRAh, TEAA T Behel & GRTeT TAIMET HI
THT 15 THAC T HHI 9| S <hT T AT &7

Options:

1. = 90 km/h
2. v 120 km/h
3. = 105 km/h
4. = 150 km/h

Question Number : 108 Question Id : 54592733842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man on tour travels first 360 km at 72 kmm/h and the next
160 km at 64 km/h and the last 200 km at 80 km/h. What is
the average speed of the tour?

Options:

1. v 20 m/s
2. % 22.5 m/s



3. % 25 m/s
4, = 30 m/s

Question Number : 108 Question Id : 54592733842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ITAT 9T Teh egTFd o U&al 360 km ST 72 km/h @ 3T 379Te
160 km 64 km/h @ 3T JTTH 200 km 80 km/h =T IT=T
T &1 2 Fr siaa afg =7 &7

Options:

1. v 20 m/s
2. » 22.5 mfs
3. = 25 mis
4, = 30 m/s

Question Number : 109 Question 1d : 54592733843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can do a work in 8 days while B can do it in 12 days. In how
many days can C do the work if all 3 of them together can do
it in 3 days?

Options:

1.+ 8
2. % 10
3. 12
4. % 14

Question Number : 109 Question Id : 54592733843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TFH FT FT 8 f&al H T Tehal & Sarh B 38 12 f&at &
T GohdT &1 e Aol Ao ag & 3 feal # g HT Fohd
g, dl C 37hel a8 H Tohcel Toall # G F Hehall &7

Options:




1. v 8
2. = 10
3. % 12
4, = 14

Question Number : 110 Question Id : 54592733844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can do a work in 12 days, while working together A & B can
do the work in 6 days, how many days will B alone take to do
the work after A has done half of the work alone?

Options:

1. %4
2.% 5
3.v0
4, %7

Question Number : 110 Question Id : 54592733844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A 12 5T # T F &T haT &, a1 A T B v @ryg
FTH FLA gu 6 Teal H 1T T ohd &, A o 3T F1A Hla

% 95 B & S W e A 3T Frda & om@ter?

Options:

1. = 4
2. % 5
3. v 6
4. = 7

Question Number : 111 Question Id : 54592733845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A, B and C can complete a work alone in 80, 120 and 180 days
respectively. In how many days can A finish the work if he is
assisted by B every 2nd day and by C on every 3rd day?

Options:

1. » 48
2.v 54
3. = 60
4. % 45

Question Number : 111 Question Id : 54592733845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B 3T C sraer: 80, 120 3 180 f&al # 3fehel A [T
Trd gl ATFaa Rl A s e Ohar & I a@ B T &7
i f&eT 3K C 8 & e TaeT |graar ofdar &7

Options:

1. = 48
2. v B4
3. = 60
4. = 45

Question Number : 112 Question Id : 54592733846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of a rectangular plot is thrice its breadth. The area
of the plot 768 mz. Find the perimeter of the plot.

Options:

1. » 120 m
2.% 124 m
3.v128 m
4. %132 m



Question Number : 112 Question 1d : 54592733846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh IR TS T oelly $Eh! dIss & dlel Il gl =3

2 ,
FT &TheT 768 m | HWS T IRAT AT FHl|

Options:

1. = 120 m
2. % 124 m
3. v 128 m
4. = 132 m

Question Number : 113 Question 1d : 54592733847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sphere of radius 9 cm is moulded to form a cylinder of
radius 3 cm. Find the height of the cylinder.

Options:

1. = 54 cm

2. v 108 cm
3. %162 cm
4, = 216 cm

Question Number : 113 Question Id : 54592733847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

B=ar 9 cm & T Mok Fr 3 cm FSAT & [EolsT & &1 -
foIw grem Srar &1 [@eisy 1 398 AT R

Options:
1. = 54 cm
2. v 108 cm

3. = 162 cm



4. = 216 cm

Question Number : 114 Question Id : 54592733848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the ratio between the volume and the curved surface area
of a cylinder is 7:1 and the height measures twice the
diameter, then find the volume of the cylinder.

Options:

1. v 34496 cu cm
2. % 43120 cu cm
3. % 17248 cu cm
4, = 120736 cu cm

Question Number : 114 Question Id : 54592733848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife TordT TOelst & 3Mace 3 gATEER §cg &9 & a1
eIl 7:1 § 3R ST e SN SO Y ATYCr &, A elsy @

I—Idel ATT |

Options:

1. v 34496 cu cm
2. % 43120 cu cm
3. » 17248 cu cm
4. = 120736 cu cm

Question Number : 115 Question Id : 54592733849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The table shows the various expenses of a firm over a period
of time. By how much is the expenditure of 2018 more than
the expenditure of 20167

l Particulars
Year  |Raw Materials| Salaries | Rent |Interest |Delivery
2014 1250 350 800 400 400
2015 1300 400 850 400 500
2016 1650 500 800 500 600
2017 1500 480 950 500 700
2018 1750 720 | 1100 | 500 850

Options:

1. = 550

2. = 660

3.v770

4, = 880

Question Number : 115 Question Id : 54592733849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

drfershT THAT T 3G & vh B & Taffesr =l &Y femrdr &
2016 & T I Tl # 2018 FT T fohcar 87

o CE

FoarAw | daw | fE | @w | e
2014 1250 350 | 800 | 400 | 400
2015 1300 400 850 400 500
2016 1650 500 900 500 600
2017 1500 480 950 500 700
2018 1750 720 | 1100 | 500 | 850
Options:
1. = 550
2. = 660

3. v 770



4. = 880

Question Number : 116 Question Id : 54592733850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The table shows the various expenses of a firm over a period
of time. By how much is the expenditure of 2018 more than
the expenditure of 20157

. ~ Particulars _ |

_ Year  Raw Materials Salaries Rent | Interest Delivery
| 2014 1000 | 300 800 | 400 | 400 |
| 2015 | 1800 | 400 @ 800 | 500 | 500 |
| 2006 900 | 450 | 950 | 500 | 500
| 017 1200 | 400 800 | 500 | 800 |

2018 2000 700 1000 600 | 900
Options:
1. » 20%
2. % 22.50%
3. % 25%
4. v 30%

Question Number : 116 Question Id : 54592733850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

drfershT TAT T 3@ & v o & Q¥ ==l & gefdr &
2015 & @A kI Jelall # 2018 T T fohcell &7

&= | faaRor

. FIAW | daw  fWmr | @ faeRor
2014 1000 300 800 400 | 400
2015 | 1800 400 800 | 500 | 500
2016 = 900 450 | 950 | 500 | 500
2017 1200 400 @ 800 | 500 | 800
2018 | 2000 700 1000 | 600 = 900

Options:

1. = 20%



2. = 22.50%
3. = 25%
4. v 30%

Question Number : 117 Question Id : 54592733851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following chart shows the market share of {flower
exporting companies. If India constitutes 5% of the share of
other countries and the quantity of exported flowers by
Kenya is 6 million, find the quantity exported by India.

Market share of Flower Exporting Company

Other Countries
20949

Netherlands

Kenya Lo

B LU

Israel
5%

Tealy 7%

Colombia 10%

Options:

1. = 1 million
2. v 2 million
3. = 3 million
4. = 4 million

Question Number : 117 Question Id : 54592733851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArfai@a ar€ # well 1 foaTa et arell Sufert $r SR
fTraey &1 Ife vRa 3T o & 5% BEd &1 7o HaT &
3 Fear @Rt fodTa fohw are Gell 1 AET 6 fAfeReT §, dr
HRT SaRT a1 T 35 AN AT R

% Aafa Fuet F1 R R

ST 2, 20 %

Fear
3%

Foge
5%

seTeE, 55%

Options:

1. = 1 fAfe==
2. v 2 TAfera=s
3. = 3 TAfegeT
4. = 4 fAferaa

Question Number : 118 Question Id : 54592733852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The line chart shows the annual food grain production (in
million tonnes) for various years. By how much is the
maximum production greater than the minimum production?

2 kD

130
110 120

| ®0
65

§ & B

Annual Food Grain Production
M
=1

2012 2013 2014 2015 2016 2017
Year

Options:

1. = 50%

2. % 66.67%
3. % 75%

4. v 100%

Question Number : 118 Question Id : 54592733852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

oz ae Affiest aw & fov o @eges 3cues (Afome
< #) @ g1 TgeIdA 3cue $T Jolell # AIhdd 3cuTes
foraer &7

140 -
E 120
130
80 - 100
so | 80
65
40 -
E 20 -
G -
2012 2013 2014 2015 2016 2017
i
Options:

1. = 50%



2. = 66.67%
3. = 75%
4. v 100%

Question Number : 119 Question Id : 54592733853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The line chart shows the profit (in '000s) of a firm for various
years. What is the average profit in the years of 2012-2015?

240
250 220 220

‘_.E:zm 1 150 iy i
= 150

&
2 100
(-

50

2010 2011 2012 2013 2014 2015 2016 2017 2018
Year

Options:

1. = 165000
2. » 175000
3. v 185000
4. = 195000

Question Number : 119 Question Id : 54592733853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



S ¢ [affiesT aul & v v ®F & oy ('000s #H) &1
AT &1 2012-2015 & aut & 3T oy Far §7

240
250 220 220

190 190
200 160 170

150 140

2010 2011 2012 2013 2014 2015 2016 2017 2018
L

Options:

1. = 165000
2. = 175000
3. v 185000
4. = 195000

Question Number : 120 Question Id : 54592733854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The line chart shows the imports (in '000s) of 3 countries for
various years. For which of the following pairs of years, the
total imports of 3 countries is the same?

— e A — i B =——CountryC
— ntry ntry Y
250
150 -
210
3 200 205
200 -
E 180 180 210
g i " 180
= 150 160
s 150 150 155
E 100
5“ {
a -
2014 2015 2016 2017 2018
Year
Options:

1. » 2016 & 2018
2. % 2014 & 2016
3. v 2015 & 2017
4. % 2016 & 2017

Question Number : 120 Question Id : 54592733854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



el ¢ BffiesT g & O 3 et & 3T (000 #H) +
el &1 faw=fafEd & & fhg a¥ & faw, 3 2o #1 Fa

MATT AT &7

300 - =27 A —3%¥ B =3 C
250
50 -
200 210 l‘ﬂ'/
200 - .
E 180 - i ’///; c
» 180 130 180
150 - — 160 ;
E 150 150 155
[or]
100 -
5,“ i
.u o
2014 2015 2016 2017 2018
o
Options:

1. = 2016 3i¥ 2018
2. = 2014 3T 2016
3. v 2015 3T 2017
4. = 2016 3T 2017
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Question Number : 121 Question Id : 54592733855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

Vandana kept / her bag within the table / and sat down.

Options:

1. = Vandana kept

2. v her bag within the table
3. = and sat down.

4. » No Error

Question Number : 121 Question 1d : 54592733855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

Vandana kept / her bag within the table / and sat down.



Options:

1. » Vandana kept
2. v her bag within the table

3. = and sat down.

4. = No Error

Question Number : 122 Question Id : 54592733856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

Pushpa met / her childhood friend Rani / after two year long.

Options:

1. * Pushpa met

2. » her childhood friend Rani
3. v after two year long.

4. » No Error

Question Number : 122 Question Id : 54592733856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

Pushpa met / her childhood friend Rani / after two year long.

Options:

1. = Pushpa met
2. = her childhood friend Rani



3. v after two year long.
4. = No Error

Question Number : 123 Question Id : 54592733857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

Mahendra have some milk / and went to bed / as he was very
tired.

Options:

1. v Mahendra have some milk
2. » and went to bed

3. = as he was very tired.

4. = No Error

Question Number : 123 Question 1d : 54592733857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

Mahendra have some milk / and went to bed / as he was

very tired.

Options:

1. v Mahendra have some milk
2. * and went to bed

3. * as he was very tired.



4. = No Error

Question Number : 124 Question Id : 54592733858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

Mr. and Mrs. Patel's / adopted an orphan / as they did not
have any child.

Options:

1. v Mr. and Mrs. Patel’s

2. = adopted an orphan

3. = as they did not have any child.
4. » No Error

Question Number : 124 Question Id : 54592733858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

Mr. and Mrs. Patel's / adopted an orphan / as they did not

have any child.

Options:

1. v Mr. and Mrs. Patel's
2. = adopted an orphan

3. = as they did not have any child.
4. = No Error



Question Number : 125 Question 1d : 54592733859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

The judge gave the couple / six months to / sort things out
themself.

Options:

1. * The judge gave the couple
2. * sIx months to

3. v sort things out themself.
4. » No Error

Question Number : 125 Question Id : 54592733859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

The judge gave the couple / six months to / sort things out

themself.

Options:

1. = The judge gave the couple
2. % sIx months to

3. v sort things out themself.

4,

# No Error

Question Number : 126 Question Id : 54592733860 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the sentence
meaningfully.

You haven't seen Lata since morning, (haven't you?)

Options:

1. v have you?

2. » has she?

3. * had you?

4. = No correction required

Question Number : 126 Question Id : 54592733860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the

sentence meaningfully.

You haven't seen Lata since morning, (haven't you?)

Options:

1. v have you?
2. = has she?
3. = had you?
4, = No correction required

Question Number : 127 Question 1d : 54592733861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the sentence
meaningfully.

(The soup was too hot) to be sipped up instantly.

Options:

1. = The soup was so hot

2. = The soup was very hot

3. = The soup was too much hot
4. v No correction required

Question Number : 127 Question 1d : 54592733861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the

sentence meaningfully.

(The soup was too hot) to be sipped up Instantly.

Options:

1. * The soup was so hot
2. = The soup was very hot
3. = The soup was too much hot

4. v No correction required

Question Number : 128 Question Id : 54592733862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the sentence
meaningfully.

(He did not draw her potrait) but also painted it.

Options:

1. * He did not draw her potrait only

2. v
Not only did he draw her potrait

3. * He drew not only her potrait
4. = No correction required

Question Number : 128 Question Id : 54592733862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the

sentence meaningfully.

(He did not draw her potrait) but also painted It.

Options:

1. = He did not draw her potrait only

2. ¢
Not only did he draw her potrait

3. = He drew not only her potrait

4. = No correction required

Question Number : 129 Question Id : 54592733863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the sentence
meaningfully.

(Mr. Singh is been working) in this factory ever since it was
established in 1980.

Options:

1. = Mr. Singh have been working
2. = Mr. Singh worked

3. v Mr. Singh has been working
4. = No correction required

Question Number : 129 Question Id : 54592733863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the

sentence meaningfully.

(Mr. Singh 1s been working) In this factory ever since it was
established in 1980.

Options:

1. = Mr. Singh have been working
2. = Mr. Singh worked
3. v Mr. Singh has been working

4. = No correction required

Question Number : 130 Question Id : 54592733864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the sentence
meaningfully.

The gang never came to know who had (let the cat out of the
hag).

Options:

1. = let the cat out from the bag
2. = let the cat off the bag

3. = left the cat out of the bag
4. v No correction required

Question Number : 130 Question Id : 54592733864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the

sentence meaningfully.

The gang never came to know who had (let the cat out of
the bag).

Options:

1. = let the cat out from the bag
2. = |et the cat off the bag
3. = left the cat out of the bag

4. v No correction required

Question Number : 131 Question Id : 54592733865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and completes
the sentence meaningfully.

The receptionist smiled him and asked him to sit down.

Options:

1. = with
2. v at
3. % on
4. = for

Question Number : 131 Question Id : 54592733865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

The receptionist smiled him and asked him to sit

down.

Options:

1. = with
2. v at
3. ® on
4. = for

Question Number : 132 Question Id : 54592733866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

Although I tried hard, I could not what she was saying.

Options:



1. = compere

2. v comprehend
3. = apprehend
4. = annihilate

Question Number : 132 Question Id : 54592733866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

Although | tried hard, | could not what she was

saying.
Options:

1. = compere
2. v comprehend
3. = apprehend

4. = annihilate

Question Number : 133 Question Id : 54592733867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

Although Fred was an Australian, he the Indian team as
if India was his country.

Options:

1. v was cheering
2. » have cheering
3. # 1s cheering



4. = was cheered

Question Number : 133 Question Id : 54592733867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

Although Fred was an Australian, he the Indian

team as If India was his country.

Options:

1. v was cheering
2. = have cheering
3. = 1S cheering

4. = was cheered

Question Number : 134 Question Id : 54592733868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

The principal said that his decision was final and

Options:

1. = affable

2. » skeptical

3. » implausible
4. v Irrevocable

Question Number : 134 Question Id : 54592733868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and

completes the sentence meaningfully.

The principal said that his decision was final and

Options:

1. = affable

2. » skeptical
3. ® Implausible
4. v Irrevocable

Question Number : 135 Question Id : 54592733869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

After receiving the court’s approval, the authority the
minister's movable and immovable property.

Options:

1. = convoluted
2. = sophisticated
3. = scandalised
4. v confiscated

Question Number : 135 Question Id : 54592733869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and

completes the sentence meaningfully.

After receiving the court's approval, the authority

the minister's movable and immovable property.

Options:

1. = convoluted
2. % sophisticated
3. = scandalised

4. v confiscated

Question Number : 136 Question Id : 54592733870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

She was so that she could not stop biting her nails.

Options:

1. » nervousness
2. = nervedly

3. ®* nervously
4, v nervous

Question Number : 136 Question Id : 54592733870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and

completes the sentence meaningfully.

She was so that she could not stop biting her nalls.

Options:

1. * nervousness
2. » nervedly
3. ® nervously

4. v nervous

Question Number : 137 Question Id : 54592733871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

Crocodiles can move very in water.

Options:

1. = fastly
2. v fast

3. » fastily
4. = fastest

Question Number : 137 Question Id : 54592733871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

Crocodiles can move very In water.

Options:



1. = fastly
2. v fast

3. = fastily
4. = fastest

Question Number : 138 Question Id : 54592733872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

Whatever the provocation, the violence that severely injured
a doctor is

Options:

1. = unanimous
2. = Innumerable
3. v indefensible
4. = convivial

Question Number : 138 Question Id : 54592733872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

Whatever the provocation, the violence that severely injured

a doctor Is

Options:

1. = unanimous

2. % Innumerable



3. ¢ Indefensible

4. = convivial

Question Number : 139 Question Id : 54592733873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and
labeled P, QQ, R and S. Select the option that gives the correct
sequence in which these sentences should be rearranged to
form a meaningful paragraph.

P: armed struggle was seen as the only path to freedom,
(Q: non-viclent campaigns are now considered

R: in many areas of the world where

S: better methods of struggle for democratic governance

Options:

1. * PQRS
2. * SRPQ
3. QPSR
4. v RPQS

Question Number : 139 Question Id : 54592733873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentences of a paragraph have been jumbled up, and
labeled P, Q, R and S. Select the option that gives the
correct sequence in which these sentences should be

rearranged to form a meaningful paragraph.

P: armed struggle was seen as the only path to freedom,
Q: non-violent campaigns are now considered
R: iIn many areas of the world where

S: better methods of struggle for democratic governance

Options:

1. = PQRS
2. = SRPQ
3. = QPSR
4. v RPQS

Question Number : 140 Question 1d : 54592733874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentences of a paragraph have been jumbled up, and
labeled P, QQ, R and S. Select the option that gives the correct
sequence in which these sentences should be rearranged to
form a meaningful paragraph.

P: We swam In the village lake in the morning and spent the
long afternoons in my grandfather’s mango orchard.

(. It was a typical, nondescript village, much like any other
that you could find in the region.

R: But a deeper peep would let you see the uniqueness of each
feature of the rustic landscape.

S: Every summer, we would board a train and take a night-
long journey to to our ancestral village.

Options:

1. = SRPQ
2. = SPOR
3.« QSRP
4. v SQRP

Question Number : 140 Question Id : 54592733874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentences of a paragraph have been jumbled up, and
labeled P, Q, R and S. Select the option that gives the
correct sequence in which these sentences should be

rearranged to form a meaningful paragraph.

P: We swam In the village lake in the morning and spent
the long afternoons in my grandfather's mango orchard.

Q: It was a typical, nondescript village, much like any other
that you could find in the region.

R: But a deeper peep would let you see the uniqueness of
each feature of the rustic landscape.

S: BEvery summer, we would board a train and take a night-

long journey to to our ancestral village.

Options:
1. = SRPQ
2. = SPQR
3. = QSRP
4. v SQRP
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Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20

IsthisGroup for Examiner?: No



Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0
Minimum Instruction Time: 0
General English2
Section Id : 5459271678
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459272012
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54592733875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and
labeled P, O, R and S. Select the option that gives the correct
sequence in which these sentences should be rearranged to
form a meaningful paragraph.

P: The urban-bred children could not stand the stench even
for a minute.

(). We all ran away from the stench, as fast as our tiny feet
could take us.

R: The barn was spacious but there was a problem; it smelled
of cattle dung and urine.

S: We didn't stop until we reached the gates of the old,
haunted manor.

Options:

1. v RPQS
2. » SRQP



3.« PQRS
4. » RSQP

Question Number : 141 Question Id : 54592733875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and
labeled P, 3, R and S. Select the option that gives the
correct sequence in which these sentences should be

rearranged to form a meaningful paragraph.

P: The urban-bred children could not stand the stench even
for a minute.

Q: We all ran away from the stench, as fast as our tiny
feet could take us.

R: The barn was spacious but there was a problem; it
smelled of cattle dung and urine.

S: We didn't stop until we reached the gates of the old,

haunted manor.

Options:

1. v RPQS
2. = SRQP
3. = PQRS
4. = RSQP

Question Number : 142 Question Id : 54592733876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that is closest in meaning (SYNONYM) to the
word given below.

SPECIOUS

Options:

1. v Deceptive

2. » Substantive
3. = Comfortable
4. = Cosmic

Question Number : 142 Question Id : 54592733876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that Is closest in meaning (SYNONYM) to

the word given below.

SPECIOUS

Options:

1. v Deceptive
2. *= Substantive
3. # Comfortable

4. = Cosmic

Question Number : 143 Question Id : 54592733877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is opposite in meaning (ANTONYM) to
the word given below.

DISTINCTION

Options:

1. v Insignificance



2. = Illusion
3. x Prominence
4. = Result

Question Number : 143 Question Id : 54592733877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that 1s opposite iIn meaning (ANTONYM) to

the word given below.

DISTINCTION

Options:

1. ¢ Insignificance
2. % |llusion
3. * Prominence

4. = Result

Question Number : 144 Question Id : 54592733878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is opposite in meaning (ANTONYM) to
the word given below.

TEMERITY

Options:

1. = Ludicrity
2. v Timidity

3. » Effiminacy
4. » Ecstacy

Question Number : 144 Question Id : 54592733878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that 1s opposite in meaning (ANTONYM) to

the word given below.

TEMERITY

‘Ip. * Ludicrity
2. v Timidity
3. = Effiminacy
4. = Ecstacy

Question Number : 145 Question Id : 54592733879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is closest in meaning (SYNONYM) to the
word given below.

Distinction
Finally, he remembered the spelling of the word.

Options:

1. = wright
2. = Write
3. v right
4. = rite

Question Number : 145 Question Id : 54592733879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that Is closest in meaning (SYNONYM) to

the word given below.

Distinction

Finally, he remembered the spelling of the word.

Options:

1. = wright
2. % write
3. v right
4. = rite

Question Number : 146 Question Id : 54592733880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct word (HOMONYM) that fills in the blank
and makes the sentence meaningful.

The black goose a white egg.

Options:

1. = led
2. v laid
3. = layed
4. = lead

Question Number : 146 Question Id : 54592733880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the correct word (HOMONYM) that fills in the blank

and makes the sentence meaningful.

The black goose a white eqgqg.

Options:

1. = led
2. v laid
3. = layed
4. = |ead

Question Number : 147 Question Id : 54592733881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. * Necesity
2. = Nessecity
3. v Necessity
4. = Nesecity

Question Number : 147 Question Id : 54592733881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that Is spelled correctly.

Options:

1. = Necesity
2. = Nessecity
3. v Necessity
4, = Nesecity

Question Number : 148 Question 1d : 54592733882 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. v Predicament
2. » Predecament
3. = Predicement
4. = Pradicament

Question Number : 148 Question Id : 54592733882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. v Predicament
2. = Predecament
3. = Predicement

4. = Pradicament

Question Number : 149 Question Id : 54592733883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. = Conscienciously
2. » Consceinciously
3. = Conscientitiously
4. v Conscientiously

Question Number : 149 Question 1d : 54592733883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. = Conscienciously



2. = (Consceinciously
3. = Conscientitiously

4, v Conscientiously

Question Number : 150 Question Id : 54592733884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the idiom
or phrase given below.

To be as good as one's word

Options:

1. = To gain advantage over someone, especially an opponent
2. = To have a talent for speaking

3. v To Keep one’s promise

4. = To be wise beyond one’s age

Question Number : 150 Question Id : 54592733884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the

idiom or phrase given below.

To be as good as one's word

Options:

1. » To gain advantage over someone, especially an

opponent
2. = To have a talent for speaking
3. v To keep one's promise

4. = To be wise beyond one's age



Question Number : 151 Question Id : 54592733885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the idiom
or phrase given below.

To wash one’s hands off something

Options:

1. = To blame someone unfairly

2. *» To discuss unpleasant private matters before strangers
3. v To refuse to be involved in something any longer

4. = To flatter someone

Question Number : 151 Question Id : 54592733885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the

idiom or phrase given below.

To wash one's hands off something

Options:

1. = To blame someone unfairly
2. » To discuss unpleasant private matters before strangers
3. v To refuse to be involved In something any longer

4. = To flatter someone

Question Number : 152 Question Id : 54592733886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the idiom
or phrase given below.

To have an axe to grind

Options:



1. * To have money making as the main aim

2. = To take back what one has said

3. » To have some secret information about someone

4. v To have a strong personal opinion about something

Question Number : 152 Question Id : 54592733886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the

idiom or phrase given below.

To have an axe to grind

Options:

1. = To have money making as the main aim
2. = To take back what one has said
3. = To have some secret information about someone

4. v To have a strong personal opinion about something

Question Number : 153 Question 1d : 54592733887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ’ for the expressions
given below.

People who live at the same time

Options:

1. = Volunteer
2. v Contemporary
3. » Colleague
4. = Samaritan

Question Number : 153 Question 1d : 54592733887 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ' for the expressions

given below.

People who live at the same time

Options:

1. = Volunteer
2. v Contemporary
3. = Colleague

4. = Samaritan

Question Number : 154 Question 1d : 54592733888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ' for the expressions
given below.

A peson who compiles a dictionary

Options:

1. v Lexicographer
2. = Dictator

3. = {omposer

4. = Grammarian

Question Number : 154 Question 1d : 54592733888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ' for the expressions

given below.

A peson who compiles a dictionary



Options:

1. v Lexicographer
2. % Dictator
3. = Composer

4. = GQrammarian

Question Number : 155 Question Id : 54592733889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ' for the expressions
given below.

A person who eats human flesh

Options:

1. = Carnivore

2. = Interregnum
3. v Cannibal

4. = Omnivore

Question Number : 155 Question Id : 54592733889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ' for the expressions

given below.

A person who eats human flesh

Options:

1. = Carnivore

2. % Interregnum

3. v Cannibal



4. = Omnivore

Sub-Section Number : 2
Sub-Section 1d: 5459272013
Question Shuffling Allowed : Yes

Question Id : 54592733890 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

(Question Label : Comprehension



Read the passage below and answer the questions that follow.

Plato, the Athenian philosopher, is one of the most important
influences on the ancient Greek and Western philosophy.
Together with his his teacher, Socrates, and student, Aristotle,
Plato laid foundation to the Western religion and spirituality.
Plato lived during the 5th century BCE. He set up what many
believe the world’s first university, called the Academy. He
also wrote extensively, some count put his philosophical texts
to at least 25. As a result of Plato’s fascination with
mathematics, the Academy produced many famous later-day
mathematicians. Acknowledging his role in their making,
Plato was known as the “maker of mathematicians.”

Plato’s most famous work is the Republic, which details a
wise society run by a philosopher king. Plato is also well-
known for his dialogues. Most of his writing, except perhaps
the Letters, is in the form of dialogues.

Plato is one of history’s most influential philosophers. His
contributions range across numerous philosophical subfields,
including (but not limited to) ethics, cosmology, and
metaphysics. Though he was not a scientist in the modern
sense, Plato also examined the natural world and the
philosophical implications it held. He dedicated his life to
learning and teaching,.

Sub questions

Question Number : 156 Question Id : 54592733891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following did Plato influence?



Options:

1. = Iranian Philosophy
2. » Indian Philosophy
3. » Buddhist Philosophy
4. v Greek Philosophy

Question Number : 157 Question 1d : 54592733892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, what does Plato’s book Republic
dwell upon?

Options:

1. v A wise soclety run by a philosopher king
2. = The rules to run the Greek republic

3. = Plato’s mathematical treatise

4, = Letters from a wise King to his son

Question Number : 158 Question Id : 54592733893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, who was Aristotle?

Options:

1. v Plato’s student
2. #» Socrates’ student
3. = Plato’s teacher
4. = Socrates’ teacher

Question Number : 159 Question Id : 54592733894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, which one of the following is the
best reason why Plato was known as the “maker of
mathematicians”?

Options:

1. = Plato laid the foundation to modern mathematics.



2. = Plato was himself a well-acclaimed mathematician.
3. v Plato’s Academy produced many famous mathematicians.

4. = Along with Socrates and Aristotle, Plato built a school for
mathematicians

Question Number : 160 Question Id : 54592733895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The passage mentions a range of Plato’s contributions. Which
one of the following is NOT included in the list?

Options:

1. = Ethics

2. v Etymology
3. = Cosmology
4. = Metaphysics

Question Id : 54592733890 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage below and answer the questions that

follow.

Plato, the Athenian philosopher, i1s one of the most
important influences on the ancient Greek and Western
philosophy. Together with his his teacher, Socrates, and
student, Aristotle, Plato laid foundation to the Western
religion and spintuality. Plato lived during the 5th century
BCE. He set up what many believe the world’s first
university, called the Academy. He also wrote extensively,
some count put his philosophical texts to at least 25. As a
result of Plato’s fascination with mathematics, the Academy
produced many famous later-day mathematicians.
Acknowledging his role in their making, Plato was known as

the “maker of mathematicians.”

Plato’s most famous work is the Republic, which details a
wise soclety run by a philosopher king. Plato is also well-
known for his dialogues. Most of his writing, except perhaps

the Letters, I1s in the form of dialogues.

Plato is one of history's most influential philosophers. His
contributions range across numerous philosophical subfields,
including (but not limited to) ethics, cosmology, and
metaphysics. Though he was not a scientist in the modern
sense, Plato also examined the natural world and the
philosophical implications it held. He dedicated his life to

learning and teaching.



Sub questions

Question Number : 156 Question Id : 54592733891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following did Plato influence?

Options:

1. = lranian Philosophy
2. % |ndian Philosophy
3. * Buddhist Philosophy
4. v Greek Philosophy

Question Number : 157 Question Id : 54592733892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, what does Plato’s book Republic

dwell upon?

Options:

1. v A wise society run by a philosopher king
2. » The rules to run the Greek republic
3. = Plato’s mathematical treatise

4. = |Letters from a wise king to his son

Question Number : 158 Question Id : 54592733893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

According to the passage, who was Aristotle?

Options:

1. v Plato’s student
2. %= Socrates’ student
3. = Plato’s teacher

4. = Socrates’ teacher



Question Number : 159 Question Id : 54592733894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, which one of the following Is the
best reason why Plato was known as the “maker of

mathematicians™?

Options:

1. = Plato laid the foundation to modern mathematics.
2. = Plato was himself a well-acclaimed mathematician.

3. v Plato’s Academy produced many famous

mathematicians.

4. = Along with Socrates and Arnistotle, Plato built a school

for mathematicians

Question Number : 160 Question Id : 54592733895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The passage mentions a range of Plato’s contributions.
Which one of the following 1s NOT included in the list?

Options:

1. = Ethics

2. v Etymology

3. = Cosmology
4, = Metaphysics
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Question Number : 161 Question Id : 54592733896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FaTeled U §, IR [Adeul § 9, 39 [dded & Id- & Sl [&J TT e
& TelT GgT YU acgey JATY & [aug & famey gl

crYTh

1. = 28T & 3MUF
2. v T & [oIT 9ith
3. % 2T T Yh

4, = T 3T qith

Question Number : 161 Question Id : 54592733896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST few 3w eree o ToIv TeT AUl dcdey A & 998
AeT &

dersifere

Options:

1. = 22T T 3EIE

2. v 32T & Tolvw HAlad
3. = 2or & ATFd

4, = g 3T ok

Question Number : 162 Question Id : 54592733897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyerad Ty #, IR Aaeul § ¥, 39 [OdeT & ad= & S 70 M7 9
T Tg! ToqH &Y dTedT ieieheq gl

g

Options:

1. = 31g
2. * 34T

3. % AL
4. v 3Md

Question Number : 162 Question 1d : 54592733897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed #, IR Aedr # &, 39 TFed FT TTT
St & 91T ereg T WA IcOH ¥ aTell [dhed 8

AT



Options:

1. = 3
2.
3. ® 3l
4.

v JHJ

.

Question Number : 163 Question Id : 54592733898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEeiied Uy #, I ddeul # 9, 39 Ddmed @ IdT & ST .8 e &l

el Ferepet gl

Options:

1. v digT
2. % AT
3. * f[edheerX
4. = 99

Question Number : 163 Question Id : 54592733898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST S2TST eTsg ol Hal Tdehed &l

Options:

1. v Hhar

2. = AT
3. % Tgheel
4. = &g

Question Number : 164 Question Id : 54592733899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



MHeiEd Uy #, I [Adeul # &/, 39 [dheT & I & ST a9 & He
T a1 et gl

g 31T+ AT X us

Options:

1. v Fstarad

2. % IFFIATAD o
3. « IH [

4, » [T drerd

Question Number : 164 Question Id : 54592733899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ved #, I) TFeal & 8, 39 OFeT FT 999 =
ST GETH F AT FT AT FeheT &N

& 9a 39 @R 93T

Options:

1. v To<Ta=<F
« 3freTaar<ehr dadTH

2.
3. % 3cdH qey
4.

« ToreT gk

Question Number : 165 Question Id : 54592733900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fafalad vy # o Raeul #§ ¥, 39 fdew o1 a3 e S U M7 areg
& TolT 3eqT & 9 BT Gg! [aded il

ST AT & TelT MapetT a1 AT Ty 3T RgATT 31 Mgl

Options:

1. = TRATTTLIYT 31T



Question Number : 165 Question Id : 54592733900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFaTa@d ueel H, IX Ahedl A &, 39 [Thed FT ITAT
S few 71w areFg & fow 3Ty %k A &1 T@Er faweT ar:

§ToT. STl o ToIw Tolehell & 2T Tor 3<ITaleh AGHAT 31T 30 &

Options:

1. » ToRITaeINoT 3E09
2. ¢ H?fljﬁEITsﬁ'?-lch Y
3. = farrarfeataes 31eay
4. » GFTEITR T

Question Number : 166 Question Id : 54592733901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTead uy #, IR aeul § T, 39 [Adey & ad= & S 1T M7 9
& T e BT g1 Tddey gl g |

Options:

1. » TAdaT
2. * G
3. * YTIRET
4. v @Teics

Question Number : 166 Question Id : 54592733901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST 20 710 o o UITIaT esg T &l [ahedT oTal &l

Options:

1. = Toldar
2.« FaR
3. = eIy
4. v Fifeldr

Question Number : 167 Question Id : 54592733902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYieired Uy 7, IR Tdaetl § ¥, 39 [dded &7 Id= & 11 1¢J T Ee
& Taen erec; @1 gg! fade 3l

T -
Options:

1. » ga<
2. % g
3. v U

4. * AT

Question Number : 167 Question Id : 54592733902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
S RT 917 ereg & TOAH ee T T Ahed o

T -

Options:



B W=
$
g ,

Question Number : 168 Question 1d : 54592733903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M U §, IR [a@eul § 9, 39 TgI [admey &l ad= HL ST 146 T
& To1q 3 arwen g

gIATAT <l TATSAT hl MET ATeTS G THT Al TEE,

Options:

1. % JM-37M

2. % BR-SI

3. v ¢@d-c@d
4. % ThTR-ThAR

Question Number : 168 Question Id : 54592733903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFeITaad wedd H, IX Ahedl # &, 39 Tl [Theqd T IIa
N S Rea T & fov 3T Aew a8

&RTeIT <hr ﬁ%‘a’fEﬁrﬂnglqlw gddlmﬁaﬁ
THE g

1. % -1

2. = -G

3. v SEd-aEd




4. » ThaR-ToraTy

Question Number : 169 Question Id : 54592733904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

MYTeiied 7 §, o [ddetl § ¥, 39 [dtew & o= & A7 60 1Y
ATFATY & TelT U Sec, BT 91 [AdeT gl

STT ofrer gwer § 7 310 -

Options:

1. = gary

2. v gay
3. % 37T

4. = Sy

Question Number : 169 Question Id : 54592733904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafeEa ved #, I) TFedl # 8, 39 AFed FT II9 R
ST AT a1 areraTer & folv e o &7 T8l Aev &

S efrer AT # o 310 -

Options:

1. » g
2. v gfer
3.« 3rave
4. = ae

Question Number : 170 Question Id : 54592733905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Myeirdd 77 ¥, o fadetl #§ €, 39 g1 [dded of T+ B AT [k T
& TolT ST et gl

& PRI gL Dl AT &1 el T2

Options:

1. * @EiTd
2. % gAiTa
3. = @iTd
4. v Tl

Question Number : 170 Question Id : 54592733905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el wea &, I) [Ohedl & &, 39 T8 AFhed FT IIa
H S Wad v & folv 3T [ashew &l

oh HUT YEY h eNHAT & Tall TS|

Options:

1. % FTA
2. % I
3. = ShIfdl
4. v Fella

Question Number : 171 Question 1d : 54592733906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyto@d vy §, o Aeen § 9, 39 wew o g9 o Y eu 7y e
& QAT STec, BT a1 Aded Tal gl

YT -
Options:

1. v IE@Y



2. % A

3. % ey
4, % gl

Question Number : 171 Question Id : 54592733906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
ST faw a0 eeg & AT ofeg T TEr AereT TET &

>8I -

Options:

1. v THH
2. = 3
3. = geg
4, % FW

Question Number : 172 Question Id : 54592733907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Myt v ¥, IR [Aaeul & &, 39 Aoy aT ad= i ST h T &
ToIT JUYeH e, T gt kol g1 gl

3ITUhT g TLHT T gl

Options:

1. » g
2. % 39
3.5 &

4. vdg

Question Number : 172 Question 1d : 54592733907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fafe@T mea A, a) BFedr # 8, 39 TFeT FT TTT =
S R ¥oTel & Tl 3Uged oree 7 @1 fashed =T 81

Ma@w@mmﬁl

Options:
S e
2. = 38
3. =« #
4. v dg

Question Number : 173 Question Id : 54592733908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § ¥, 39 Tdthed DI TT B ST g e, Pl
G@'iafﬁﬁﬂ %I

Options:

1. = 3ThHAT
2. % 3ThIHATAT
3. = 3hHAT

4. v JGATT

Question Number : 173 Question Id : 54592733908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
ST g esg T Tl ahed & |

Options:

1. = IHh{HeT

2. % 3TRITHAT
3. % 3hHAT
4. v FATY



Question Number : 174 Question 1d : 54592733909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTead U ¥, IR Tddedl § 9, 39 Tdhed B adT B ST g e, Pl
F@'iafﬁﬁﬂ %I

Options:

1. * TR

L
2. # TEGIdhIUl

3. v TEJd e
4, % TEIATDR

Question Number : 174 Question 1d : 54592733909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST e[ e T Hel fasFed & |

Options:

1.wm§?ﬁww

2. % TECICIhT]

3. v thl:d“lchw

4. = Hﬁql:d“lchuw

Question Number : 175 Question Id : 54592733910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTead U ¥, IR Tddedl § 9, 39 Tdhed B adT B ST g e, Pl
F@'iafﬁﬁﬂ %I

Options:

Question Number : 175 Question 1d : 54592733910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST g ersg T Tel ahed & |

Options:

1. * LT
2. = 3TEUTRT
3. = 3O
4. v IO

Question Number : 176 Question Id : 54592733911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYeirad U #, IR Tddeul § ¥, 39 [dde &7 ad= & 1 9e] STt
SIES, ATAT Gl [AheT gl

Options:

1. v Tprd
2. % ATAT
3. » g

4. = grer

Question Number : 176 Question 1d : 54592733911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST GaT TAIfeleT o aTell Har aeheq &

Options:

1. v BFAT
2. % IMET
3. % T
4. % BT

Question Number : 177 Question 1d : 54592733912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Fgfelaa vy # or Raeul #§ ¥, 39 frdew o1 a3+ e S U 7 9o
T GET S TelT aTelT e gl

VAT

Options:

1. * THATIUT
2. % THATAT
3. % JITHATT
4. v JATAATHAT

Question Number : 177 Question Id : 54592733912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
ST f&w 310 efsg T Hal TAIfeldl arell st &

HTHATAT

Options:

1. = 3THATON
2. % THATAT
3. = 3ITHATA
4. v tAATAAT

Question Number : 178 Question 1d : 54592733913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyto@d vy §, o Aeen § 9, 39 wew o g9 o Y eu 7y e
o Telq e e, dl Jod 38T fddey gl

AT

Options:

1. = TTeT3N



2. % TTATA
3. v MTATT
4. » T

Question Number : 178 Question Id : 54592733913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST 20 90 orsg o TOIU S@adel o1sg &l Ted 37T [d%hed &l
o

JIT=T

Options:

1. = amrs
2. % FTATY
3. v JTATT
4. = MY

Question Number : 179 Question Id : 54592733914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gTeld Uy #, IR Tddeul § ¥, 39 ey &7 o= DY ST hisa H &7
T SIe¢, & 39T 3 [TY aTrad AT PT 951 ey gl

Options:

1. * (AP ThdT WY =T DI €T gr dt STl

2. % ¥g (W) [EHR 3
3. v B (3) U o & Telq |IT 9l

4, % (A7) T FAT T8 AT

Question Number : 179 Question 1d : 54592733914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST hisaceh H TEU T eeg & 3TAN 3ed &Y ar<ieh HdaTH
T & ™@eheq &

Options:

1. = (A fondll off <eT T ST 81 aF Sde|
2. » & (AU) QERN ¢

3. v #a (38) dEr o & fow S e

4. = (JAS) T FIT AGT TAT

Question Number : 180 Question Id : 54592733915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTerad vy #, IR aeul § T, 39 [Awey & ad= & St aU 7T arag
& DTel PT gt Aded gil

O I it § 31T 7T g

Options:

1. * YT HiA TR

2. % JYUT AT
3. v T GAHTRTA

4. » gdaq HE Yddre

Question Number : 180 Question Id : 54592733915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST U a0 greT & el T Tar [ahed arn

AL SIET SO B 3T 90 g et

Options:

1. = FHTET HiasThTer



. * 3TqUT GciATeTehIc]
o aaHTelRT

% %qj%g: HG #cThTel

4

B W N

General Hindi2

Group Number : 10
Group Id : 5459271680
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi?2

Section Id : 5459271680

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section I d: 5459272015
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592733916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yol ad U ®, IR [AOdetl # 9, 39 [ddhey &r Id= & AT &7 M7 arad

& ToIT gid & 9 BT G 30T [ddheT 2l
&0 QT YIRd &7 8 T 33 3l

Options:




1. » Toegd
2. % Gharel
3. « ggrd
4. v Feaard

Question Number : 181 Question Id : 54592733916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafeEa ved #, I) TFedl # 8, 39 AFed FT II9 R
St R a1w arery & v gica & #g &1 @ed 3100 fashed B

g T 9RT T #3729 @ &

Options:

1. = foegey
2. ® TehdTel
3. » HgmT

4. v ToveTme

Question Number : 182 Question Id : 54592733917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fafalad vy # o Raeul #§ ¥, 39 fdew o1 a3 e S U M7 areg
& TolT U8y & 9T &7 g 3BT [ddeT

31 qh EUT IThT UG ehi 3!

Options:

1. v quidTenda®
2. = IVITEdd

3. = IIRYENdd
4. » Fcgdarendd

Question Number : 182 Question Id : 54592733917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT E&d s A, TN AFeul # @, 39 TOFeT T I
S fu 910 arey & Tolv el & dAc &7 T&d 3<3T [Aoed &l

3 T QAT FIHT TG TehT &l

Options:

1. v qUIdEAdH

L

2. % EITHSATASR
3. » 3HGATdH

4. = Telcadeiceh

Question Number : 183 Question Id : 54592733918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 et § ¥ MEATYR ag TRadsT & [dd@ey gyl

gW g4 glearar @rqir ()
Options:

1. » g0 @ g4 el

2. % B GiewAT gA- QAT

3. * g4 gieadr g @Y

4, v FUR ERT g4 gleadl 1% T8

Question Number : 183 Question 1d : 54592733918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFT AFeal § & ﬁlﬁ?llgﬂu =g INade T [Ghed

08
E1);
rom

A B glesrar Tea (Faard)

Options:

1. = &H @ &I Feoll

2. = BT gleordl &Ha T




3. % E'.'\ﬁ' afesr=ar [yl TqTa
4, v FAR TINT &1 disoll TS a8

Question Number : 184 Question 1d : 54592733919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTeliad Uy #, I [ddedl # 4, 39 [Aded & TdT & Il [dellf e
PT Gerd 3O ehdpeT 3l

SIS g dgl, Te HI g T Tl

Options:

1. » ToreTa™® arad
2. * ol dTHy
3. v Wy amag
4. » GH ATFT

Question Number : 184 Question Id : 54592733919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d s A, TN AFeul # @, 39 TOFeT T I
SIf faed esg &7 gad 3T [ddheq &

SIS g hgl, AT I8 o TRl

Options:

1. = TQuUTdaT=IR arF

2. * lol Iy

3. v T8 g

4. = TIFA T

Question Number : 185 Question Id : 54592733920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Myleldd 7 ¥, 9 Taddetl # ¥, 39 [ddheT & 9= & 511 Gg1 a1ad 9

PT [AdeT Bl

STTeST 1 Tat < 37X 3T UX Tthret M|

Options:

1. » TOTaTI® aTad

Question Number : 185 Question Id : 54592733920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
ST gl araFg Ac &l Tdehed a8l

FTeT &1 I 27 3T 391 9T haer |

Options:

IR CRIGEICERCIER?

£ el dlay

2.
3. = T8y ey
4.

v i—i%-ljci'd GIER)

Question Number : 186 Question 1d : 54592733921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT 7 §, IR [Oweul § 9, 39 [ddey & o &2 ST 951 arad 9,
&7 e il

AT @ S @ el dIT gl T3

Options:

1. » TS aTad




2. ¢ Hlol AT
3. » 0y aIaT
4. » GYh ATFY

Question Number : 186 Question Id : 54592733921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST TET aTFg AE T [dhed &

ATcsh 2@a SlTe & folw I & <3t

Options:

IR CRIGEICERCIER?

2. v 3ol I

3. = TR ey

4. = FYFT qTHY

Question Number : 187 Question Id : 54592733922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgierad usy ¥, IR Aaedl § 9, 39 [ardhey & o2 B ST Y aTFT P
ey 3OT [ddeT 3l

Options:

1. * P TZ gl I STST SR i FTd TR

2. % TST P TG gl qH SThR i FTd TR
3. * SR DI ITdT T Jrg STST 7T B

4. v TH DR DT AT T STST I g &T

Question Number : 187 Question Id : 54592733922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
S UE ATFT F ged M7 [aeq &l

Options:




1. % T I 8 A FEET SR T §1d T
2. * FETET L I 8 JH SR hT a0 W

3. » §HN T STAT W JFg ST AT HY

4, v qH SFR HT Tl T HAST H B @

Question Number : 188 Question 1d : 54592733923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgl 7 #, IR rdeul § ¥, 39 [hdhe & ad e AT 1R =g
Ieh a1 BT Gg! ey gl

Options:

1. v ¥ DI §,gl ST TG §, 399 3MTUh! T Adele?
2. % ¥ I §,ehgl 1T TgT §, 39Y 3MTUh! 4T Aceld
3. » H PN g gl T @I § 39 SITYRT AT Acoler?
4. % ¥ DI §,dgl A1 @I g, "3 3ITThT AT Acorer? "

Question Number : 188 Question Id : 54592733923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
S fare Rger &/ arg F7 T&r fGhed &

Options:

1. v & =la é,chsT ST T&] ﬁ S 3TYhT AT AT ?
2. = ﬁaﬁﬁéaﬁfmmﬁ SHY 3T FAT AdeS

3. « # &l é Hal ST &l ﬁs‘ﬂ'@ HTehT FIAT Aol ?

4. » # B ﬁ‘ch%T” ST T&T i "THE AT FIT Adaa? "

Question Number : 189 Question Id : 54592733924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYgTeTEd 7T ¥, o) TAdeul § , 39 [Awey & ord= & ST oW =g
gch eITard ol gl e gl

Options:

1. * 3MEYTUD AT TEAD Tl TSN F UG o1




2. % 3EYTURH 3T, TEdD Maplell, TIT, ST F UG ot
3. % JrEITUD 3T, T&AD Hehleit, ” TR-SR F TG ol
4. v 3EATUH 31T, T&Ah Meproll, S-SR & TG o1l]

Question Number : 189 Question Id : 54592733924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
ST fore RIger o arehg T §gT faehed &

Options:

1. % 3EATTH 3T GETH Toleproll S-S & Tgre o |
2. « EUYF AV, e Todehrell, ST, ST & gl o
3. » 3EUTTH 3T, TEsh farshrelr, " IR-GIK & damet o3| "
4. v 3EAF 370, Teceh falshlell, S-S & Tgle ofdl|

Question Number : 190 Question 1d : 54592733925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYieired U 7, IR Tddetl § ¥, 39 [dded &r Id= & S11 ¢ 0 T &h
T & Tl GgT YT ATeT ey 3l

T 7 30U T it 3 ol @b Tl gl

Options:

1. » @7er & HeeT HeAT=T
2. % Tyl PIC AT g

3. v IR DIl g

4. % JTYATT €T U 3BT

Question Number : 190 Question Id : 54592733925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST few atv R Togmer & Tov @87 JgTal arelr fasheq gl

TH, o 36l SYGER T 3T ollet & forw gl

Options:

1. * &Y G FhedT [Hellall
2. % Thaal HIC ol &

3. v AL hE o &

4, = 3HATA AT W 33T

Question Number : 191 Question Id : 54592733926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fylerad vy #, IR raeul #§ ¥, 39 ey &1 ag= &e it ey Ty
TATT & ToIq g GgTae aTell [ddbeT gl

3ot G a%q d & W Ugd MY gl

Options:

1. * TG STHAT
2. v gTad 3MYAT
3. % FHN

4. = TTaer AT

Question Number : 191 Question Id : 54592733926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST 20 90 Ned T & Tolw 9ar agslql arelT [aereT &I

3fTeTehel 87 TE] & aIH °ry EI%:?I AT B

Options:



1. = drEX 3GATA

2. v HIdd 3THHAT
3. = STHTT

4. = giaa ATHHAT

Question Number : 192 Question 1d : 54592733927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyfor@d vy §, o Aeen § 9, 39 owew o g9 o oY Rw o s
TAT & ToIq T GgTer aTelT e 3l

<@l &t gid gl warerm Ster & ar i

Options:

1. = BT BT Y TS, TEeT=T
2. % D GSMT

3. v DU IS & T

4, % 9 &Y ST FHT

Question Number : 192 Question 1d : 54592733927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST few ate R Togmer & Tov @gT #gTa arelr fasheT g

g@rw’faﬁa‘rwmm S 29T ar 23T

Options:

1. = B FT g I farar

. % Bk ETell

2
3. v BUIX WIE HT 39T
4. » el HT FET TSATT



Question Number : 193 Question Id : 54592733928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTerad uy #, IR aeul § ¥, 39 Adey &1 ad= & St fau 1o
ATFLT D Tl &I oAleplTeh Tl [adheT gl

ITEdR U, H ol

Options:

1. = SIgT 918 gl Ug

2. v Qe UgTS, Mapell gigar
3. * QI HSU AT DA

4, % ST FHATT AGT G4

Question Number : 193 Question Id : 54592733928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
St U 10 arerarer & folv Oar dehiied arelm [deed gl

HTOF IA, FH T

Options:

1. = SI&1 <18 Fal I8

2. v Ter vgTs, foehelr g
3. = ZHT Al ATET FTA
4.

x SIET AT JIT HLAM

Question Number : 194 Question Id : 54592733929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyerad uy #, IR Aaeul § T, 39 Rdey &1 = & St fau 1o
ATFIT D Tl &I oAleplTeh Tl [adheT gl

GG Dl AIST I W Igd glaT g

Options:



1. % VT AT TS U1

2. % BI¢ Yg T&T 14

3. = NIgdT oo 39D 69
4. v Id B T @1 GgRT

Question Number : 194 Question Id : 54592733929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
S T&U 910 greramer & TolT Tal dlenlierd aTell [dehed gl

3EETT T AT FERT AT TgF &Im &

Options:

1. = 2T AT §To Hell
2. = BIC A 9T 1
3. = TSI oldr 3TehT a9
4.¢§aﬁﬁ%aé:$rﬂm

Question Number : 195 Question Id : 54592733930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyfeiad 77 #, IR [aaetl #§ 9, 39 9g! [ddey or a9 o A1 60 1Y
ATFATY & TelT GG ATk aTell e 3l

G & It TG THell

Options:

1. = GieT UgTe evetl Figar

2. v T & AT P&, 7Tel UST TAN
3. * O B 9 oldT @Y

4. % PISTH IS O H IUATY

Question Number : 195 Question Id : 54592733930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
L ST &U 0 gGrearer & ToIw FAT olihlied arelT dhed &

gaa:aaﬁzgaﬁw

1. = FeT 9gT3 faehell Il

2. v AT A TS FITal,3Tel TSI THTST

3. % TT FT AT oIk IT
4. % RIST A 3Tl 8T A 3Ug

Sub-Section Number: 2
Sub-Section Id: 5459272016
Question Shuffling Allowed : Yes

Question Id : 54592733931 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

(Question Label : Comprehension



S TWENS Bl T Yeeh U¢ A IR el § ¥ Yol T Bl Fellad JtT

Gl

3PE ATedr & 31 ¥ ST 3 YUR Aol el 3¢ AT Tger 4 =R
THeAT| Siet SraTed] # AL Yieh ST & =1dT d1g NIET 3§ AT U7
TaeT Tg T oTTeAT ST AT mﬁ%wm%%ﬁraﬁé’rmw
eI TR 3R TRIST HY TG HT Gl ST, TATAT I 2% 30
& | g YRATT TEIT HiUg A Tgcl DI TEUTHT ST+ T FheT of Tl T Tl
] ¥ ¥ YR & T F g1 U Y AU gRT &9 HUT & 3¢ & elq
TFETEIT e |1 &9 o TerHTST T T erTuTd 3Tl JeetH ATETC] ellel 9
& UTIch&d T e ATH & 376l &Y [&U TT 37 IHhT HIUT IS, Pl 39 TAHTSH
T ST FATIT AT S g Tgcl-34, TSIt [aere hefol @ e
GITHT o7 39 Telipid Mol TSl FUY, ¢ 40 3, # 7T Gicre oIl &d GHT
Ucg o d ST § TP DIH Al BT AR [T AT, Fa1h 91-36
Y od & FGT TSTHTT T g% o

Sub questions

Question Number : 196 Question Id : 54592733932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A9l QrdTed & 3 # YU ATETer] Bl Thad UTdie THell?

Options:

1. v Tger qraT §
2. % qren &
3o

4, = U

Question Number : 197 Question Id : 54592733933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Taal @ TEITUT F-T T Yhod el TeldT TAT?

Options:

1. » TTEEAT & A
2. % T & dcare & g




3. v JANTET § Uget
4, * IANTC] & dIe,

Question Number : 198 Question 1d : 54592733934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Toc I TEUTHT 3R ST o TP Tl 0 SNTud F a1 T mam?

Options:

1. * T & WS & BIRT
2. % YT & o

3. % &N & Tadg & ey
4, v 9THT & IcqTH & ol q

Question Number : 199 Question Id : 54592733935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST & T - AT T T AT T 2

Options:

1. = drehd

2. v 4T
3. » WGHT

4. % FTdh qE]

Question Number : 200 Question Id : 54592733936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 31O, A DS IJuYeh -

Options:

1. % TATEAT

2. % TS i Yre]
3. v TT |TUT T JcdT™
4, = T AT 9T

Question Id : 54592733931 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



S AT 1 ATAYAh T¢ T AR Thedl H & Tcdsh U

T HalcdH 3ol t_lﬁl

Seargadl ATSal F 3 H S 3eld GUN JEieel o 3og o
f&l @ T THem| SEdT erdmser & Tseld Jiod 3elele &
AT T AT @ AT AT [T @ AT orell STeiderg-asir &
U AT & TEEr 1 &1 USERT TehdT, AiEehicish STERUT 31
TSI T HTTAT T ool ST, ST Tel 2230 T H &I
HRCIT ST hIIF o @Al sl TSCHTET Sellel hl Hehed of
foram om| ¢’¥y A 9RT & FTadT 8l W a0 ATdYTe ZaRT 3
HTYT o 3c2Tel & Tow fEET oY TseyT 3T SaeTPrY & TS
oty e foRar arm, o 38T Tarefierdr & @rer 3 +
faiTeter T #f1 ToraTe g3l HREeH ETeT atel $o &7
TIREATST & ST & 37eRT FT a0 a1 3 3HRT 1T 3¢
SH TI#IToTel T TR Fl1aT 91971 50 di@ fal-3¢ 1 St faarg
hael ITERT T HIMAT AT 38 TIpfd Her 2| 32/, ¢’so §,
H o7 a9 oF] N HAY Ugg g¥ deh 3faell H TEhRT
HTH TolTer T o forar T, it &t-3¢ at av & I@7
Waﬁ?&ﬁl

Sub questions

Question Number : 196 Question Id : 54592733932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Seoiradl oy ¥ 31 F G et A RrEw TR B

Options:

1. v Tgar 19T &
2. % aAdml @



3. % W&
4, % 22T 8

Question Number : 197 Question 1d : 54592733933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T8I T TSCHTIT Fellal T Tehod he [olAT IAT?

Options:

1. = arfiedar & g8y
2. = 837 & ScaN & AT
3. v 3SIET | Ygel

4. = 3SIET & &4

Question Number : 198 Question Id : 54592733934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEET ol TSeHTST 3T SRR o Tsdrr ol afsa =7 fora
IgT?

Options:

1. = 29T & [3TeleT & HROT
2. = TSE & folw

3. = 9N o fahrd & folw

4. v AT o 3T & ToIw

Question Number : 199 Question Id : 54592733935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH § hiel - AT Gdol T AT 6l &7

Options:

1. = ared

2. v SHERT
3. = HaENT




4. = HgTgeh TE]

Question Number : 200 Question Id : 54592733936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

SH 3e[oe, T I STPFA ATIh-

Options:

1. = FgrdiaTdar
2. % TGS hl HIEeT

3. v Tedr HATYT T 3T
4, = LT FT AT



